6.

Define Organisational Development. Explain why OD would
be necessary even in a stable environment. Also elaborate that
how OD Interventions improve the functioning of the
organisations.

T fawm aiafm =% g9ed &5 s =i fer
T # ot dEvEs By fymr # R R uwn
AL TWET G B wE H guRa 27

Explain in detail the various types of conflict that are inherent
in the very nature of human beings. Which conflict
management techniques will be most effective in resolving
such conflicts?

fomr ¥ fafes voR % faas & ovel 31 v § fafe
¢ AR BE-G ARy a1 faael 5
o # g iy weEt =

Define Organisational Structure and Design? Discuss the
essential elements of organisation Design. Also mention what
form of organisation design is best for the competitive business
environment.

e g9 o fewe ®1 uRwfes #3 Wed fewrA
%ﬁﬂﬁﬂi%m&ﬂ_ﬂ.ﬂuﬁﬂaﬂ_ﬁ%-ﬁﬂ
Fiarht SR AraE § gaaw € & ot s w

4060/3,500/KD/1635 4
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MDE/M-16 4060

MANAGEMENT CONCEPTS AND ORGANISATIONAL
BEHAVIOUR
Paper : MC-501

DDE : 80

Time : Three Hours] [Max. KE.Wm : Reappear : 90

Note : Attempt five questions in all. Question No. 1 is
Compulsory.

AT . H/A G T F W GEm | sfEr
Compulsory Question ( 2F@ET 999)

1. Short Answer Type (4 marks each) :

(a) Why individuals join groups? Discuss the various phases
of Group Formation.

(b} Discuss various types of resistance to change.

(c) Whatis transactional analysis and discuss its implications
for effective communication in organisations.

(dy Compare and Contrast Maslow’s Hierarchy of Needs and
Clayton Alderfer's ERG theory.

{e) Briefly discuss the various modern techniques of
~ controlling.
(f) Is delegation of Authority desirable? What advantages
accrue from delegation of authority?

4060/3,500/KD/1635/Trans. {(P.T.O.



(g) Describe briefly the perceptual process. Why should
managers study perception?

(hy Outline and explain various approaches to the concept
of learning.

(i) Throw light on the major attitudes displayed by
employees at the workplace.

(j) Discuss prominent determinants of personality.

o TR TER (VA % 4 I §)

Aﬂvﬁgﬁﬁmﬁ#%%wwﬁﬁﬂﬂ%w@ﬂ
il Uil |

Aﬂuqmm%%aﬁﬂnﬂm%%&ﬂjﬂ_

(1) SE-TEE favem ¥ ek e H g HER
% fafzmdl =1 == F

(%) TrEen W METIRA F UEEA IR HHA TETH
$amsh, frgin F geE $R IR TR HY

A@vﬂﬁg%@?ﬂ%@?ﬂﬂiﬂ&ﬂ%miﬂ_

Aﬂvﬁﬁﬂﬂﬂgﬂmﬂﬂwwg%%g
¥ Tufda w9 F 87

avﬁmmﬂaﬂﬂﬁ@ﬂﬁﬁ%mﬂjﬂ_ YRl
T EUROT H HEAT FE Afed?

Ev%@wﬂﬁmmﬂéﬁwﬁﬂwﬁﬁiﬁﬂﬂ@ﬂﬂ
3t e .

Qvﬂ%ﬂﬂﬂﬁﬂ&%%m@ﬁﬁmﬂﬂ
TEE BT

(=) s & iag Trad ®ows Bl

4060/3,500/KD/1635 2

Differentiate between Scientific approach and behavioural
approach to management. What approach do you think is more
suitable in the contemporary business environment?

R ® R SfeRm on SRl giewm ¥ AR
| TEEE e ame § o R gfesm w5
s I THEd 2

Should staffing be considered as the most important function
of management? Why. What Human resource issues and
chatlenges do you predict for the management of the future.

ﬁﬂm&ﬁ%mﬂaﬁmﬂﬂﬁ@@@ﬂﬂﬁﬂ%
ﬁﬂmﬁ%ﬁﬂﬁ%ﬂm%g%%ﬁﬂm

ﬁﬁﬁ%%%ﬁﬁﬂﬂiww

Explain and compare the various contingency theories of
leadership. Which of the contingency theories is more relevant
in the present times and Why ?

»ﬂ%iﬂ%ﬂﬂmﬁﬁnﬁm%@mﬂﬂ_
e e § st fagtd § ® we-w fasi s
Wi § 3 Y

Write an explanatory note on Two Factors Theory and

Expectancy Theory of Motivation. Also discuss their
managerial implications and practical significance.

@ﬂﬂﬂ?@ﬂ%%ﬁgﬂﬁﬁﬂﬁa%%ﬂﬂ
ﬁ@ﬂﬂ%@@.ﬁ%ﬂ%@@ﬂa%%
ﬁﬂ%&mﬂﬂ..

- 4060/3,500/KD/1635 3 (p.T.0.
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MDE/M-16 4061

BUSINESS ENVIRONMENT
Paper : MC-502

Fresh DDE : 80

Time : Three Hours] [Max. Marks :
Reappear :100

Note : Attempt five question in all. Question No. 1 is compulsory.
Attempt four questions out of remaining seven questions.

e o T g | e B At 9w e ¥ 9 R ur W
A FL

1. Compulsory Question ( 3fHard Uyw)
Write short notes on the following :
frafafen w wfaw e fafan .

(i) Business Ethics
FEE ®  AifG-vme
(1) Corporate Governance

TR H3 H WA

(ili) RTI
3, 377,
(iv) Patents
v (HfuER w)
(v)  MNCs
TE-TEE waf

4061/3500/KD/1636/Trans, [PT.O.



(vi) Social Responsibility of Business
FREAY F FEE A
(vil) Disinvestment in PSUs
et &% w gwEd ® fatEw
(viil) Consumer Protection Act
IyanTEr "o frm
(ix) Industrial Sickness
sedfirer woma)

(x) Joint Sector.

fen-sgen &=

What is Interaction matrix ? Explain the various basis for
preparing interaction matrix of environmental factors with
example.

Tt e @ 87 iaw B FRE W e

T HT N YR T, IO F WY T FH)

Explain the concept of Environmental Scanning. Why it is
necessary 7 What are the techniques of scanning the Business
Environment ?

Tfg @R F O F GEHEU THE SEavaEd
w1 27 AR F THEW T &9 FE F A T =
g

Differentiate between the Fiscal policy and Monetary policy
of India.

o ) fra-fi oit i Ry § s SR

4061/3500/KD/1636 2

What is the impact of regulatory framework on Industrial
structure and performance in India ?

e H ofeifir sEe oiR sEn % wev § fraww s
F1 1 IIE T 22

Write a detailed note on Foreign Exchange Management Act.

TF.LUAY (FEMA) W T famga [ fafan

What is Foreign Investment ? Explain the various incentives
given by Govt. of India to Non-Resident Indians for
investment in India.

fasft Frew =0 27 9@ § SaR wRAS F AT w3
% fau adtn TR S § WemET 4 82

How the World Bank and IMF has contributed in the
development of Indian Economy ? Explain with examples.

ORg FdeEen % fawm o fave 3% o smuw. 3
T ARE G 87 STl @ |y uE)|

4061/3500/KD/1636 3
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MDE/M-16 4062

MANAGERIAL ECONOMICS
Paper : MC-503

DDE 180

Time : Three Hours] [Maximum Marks :
: Reappear : 100

Note : Question No. 1 is compulsory, it consists of 10 (ten) short
questions of 4 marks each. Attempt four questions out of
remaining seven questions carry 10 marks each.

AT : W "ew | e R T T oY S 9, wee
4 3% %1 21 99 96 H ¥ fFef 9 wedi & s difvg,
Y&® W 10 3% F B

1. Compulsory Question ( 3= 9gT)
Write short answer of the following :
freafafem wol & wiyw sw <fsm .
(i) What is managerial economics ? How is it different
from economic theory ?

TEYERE SN F € 2 Ig onidw faga W fem
we fa=m ¥ 2
(ii) What is Law of demand ?
A & fEm owm R 2
(i) What is promotional elasticity of demand ?
HT H YEREE wrEa F@m R 2

4062/3500/KD/1739/Trans. [PTO.



(iv) What is an indifference curve ?
A wF @ wa € 7

(v) What are the limitations of cardinal utility analysis ?
uRgE ST faveww @) F W ¥

(vi) What is price discrimination ?
T fasdE F R

(vii) What is economic value analysis ?
fagerdft qea foavemm #n 22

(viii) What is transfer pricing ?
Faie G- fisien g ¥

(ix) What are features of monopolistic market structure ?
EhER TR WA H ow e €2

(x) What are main tools of monetary policy ?

B T F T8 TR FJ D

What are objectives of a firm ? How does a managerial
economist helps a firm to achieve its objective ?

= fEm B T IR B8 § ) uE v s
fiFg WE 9 T o ® 329d H g o FErE 9KE S
2?

What is Elasticity of demand ? Explain the importance of
understanding of this concept for the managers.

T F S w0 2 WEE ® TN S O w e
F HEd H qHARU)

4062/3500/KD/1739 2

Critically explain the revealed preference theory of consumer
behaviour.

SIS FEER § WHeY atad fagid w EHeEE w9
¥ guEul

Explain how and why the prices tends to be sticky under
oligopoly type of Market Structure ?

ST YER H SOR WA ® ofdld, q H9 a0
i oafEda o w2

Discuss the technique of multiple product pricing. Illustrate
your answer why can't a single average price be fixed for
all products ?

mmmﬂaﬁa-@mgﬂmiﬂﬂﬂ%éﬁwmﬁ
& TR e gt soR ® e T @ w1
fauffg = T BEa W AT ¥ 7

Distinguish between demand pull and cost push inflation.
What are the various methods to control inflation ?

Tt foa@ qen o g GEEHEIG ® A9 SRR SR
TR H Frifm w0 w5 fafe fafeer w0 € 2

Explain the law of variable proportions. Explain various
stages of this law with the help of a table and diagram.

%ﬁﬁﬁi%gﬂﬂ%_ﬁm@ﬂmﬁﬂm
# wEES g0 39 fram & fafe= ol # eeEsd

4062/3500/KD/1739 3



8. From the following data, find out whether there is any
relationship between sex and preference for colour :

frfafea ofesi @ 3 9o oo fF fom oo aen o
F mefirra ¥ w5 oy 2 owm A9

Colour Males Females Total

Green 40 60 100

White 35 25 60

Yellow 25 15 40

Total 100 100 200

Given for V = 2, 2, 5= 5.991, 10(15)
4063/3,500/KD/979 4
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MDE/M-16 4063

COMMERCE

{Advanced Statistics)
Paper : MC-504

Re-appear : 100

Time : Three Hours] [Max. Marks : Fresh DDE : &0

Note : Attempt five questions in all. Question No. 1 is compulsory.

AT : /A U T T IW T UH GE@w 1 e B

1. Compulsory Question ( 31f@rd uy=)
(a) Write the merits and demerits of Median and Mode.
(b} Distinguish between Skewness and Kurtosis.
(c) State and prove Addition theorem of Probability.

(d) What is Binomial distribution ? Under what conditions
Binomial distribution tends to Poisson distribution ?

(e) Explain the concept of Statistical decision theory.

(f)  Distinguish between Sampling and Non-Sampling errors.
(g} Discuss the applications of Large sample tests.

(h) Discuss the uses of y2-test.

(i} Explain Wilcoxon's signed rank test procedure.

() What is Sign test ? What are its limitations ?

(10x4=40)

4063/3,500/KD/979 [P.T.O.



(F) Aea] qT TEeH & O a1 < fad
(@) fawmar qen geeive o 1 oW @7
(M) WG & 9F Y99 i e Fwifee W fag it

() fo fomo & wn sfaum 22 R SEmel ¥ W
foan o faamm =9 s 22

(%) witens f9oia fagia =1 =on =+ g9gmy)

(F) dwfem aw R-dmfen I § o T

(B) 92 G wheml ® WA FOTEEAREY

(3) F-ont wlor & ST F wEesul

(7) o w9 i faw wlgn =1 =arem s
(3) T 3w w27 s fafis el € R § s

The daily expenditure of 100 families is given below :

Daily Expenditure : 0-20 20-40 40-60  60-80 80-100

No. of Families : 13 ? 27 ? 16
If the mode of the distribution is 44, calculate Karl Pearson
Coefficient of skewness. , 10(15)
100 IRER &1 W U9 w1 =g A= T om @
IS =9 0-20 20-40 40-60 60-80 80-100
oftari #

e : 13 ? 27 ? 16

A faaeo &1 EAF 44 B A Fed faord & fawwar onw
FY TR F

4063/3,500/KD/979 2

(a) Distinguish between Partial correlation and Multiple
correlation. 7(10)

(b) Giventhatr =07, r;y= 0.61, Thy = 0.4

Find the values of r 53, 7135 723

3(5)
STF HEgEy a1 IOt TEdEy W 3fR Ry
(F) & & r,=07, r 3=061, r,,=0.4
(@) 7153 T30 Ty3p F T4 @ R
Explain various approaches to Probability. 10(15)

wafEa & fafv= faarumst w1 9w

Explain rwo different criteria usually adopted for decision-
making under risk with probability. : 10(15)

sifem =) wfifefagl o s=fF fafa= wemed =1 wigewaet
F H 8, & Frefy wdfed = =ren w1

Define Efficiency, Consistency and Unbiasedness of an
estimator. 10(15)

TF AFaF F &, T qen fraaaa & o # e
F

Explain the various methods of Sampling. Also discuss their
relative merits and demerits, 10(15)

faf= dmfen fafvl =) @Emn T T 3 I W
T FH

4063/3,500/KD/979 3 | [P.T.O.
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OMDQ/M-16 4189

SECURITY ANALYSIS AND

PORTFOLIO MANAGEMENT
Paper : MC-211

Time : Three Hours] [Maximum Marks : 100

Note : Attempt any five questions. All questions carry equal marks

e

1.e, 20 marks.

el uier 7o & S A wft ww TuE i (20
) B B

What do you understand by the term ‘Investment analysis’ ?
Describe its objectives, process and limitations.

‘fraw favemm’ 9q @ oM = 9EER §7 TOe Sevdl,
SiF qur dmet F gl Fifew

Explain and illustrate the following :

(a) Standard deviation as a risk measurement tool.

(b) Average return, Historical return and Annualised return.
frafafas #t w9amEe qan aviq s .

(%) 9% fawem, Tw TfEgn A9s STE0 ® aR
(@) 3twm yieeny, Maefos sy den b g

Differentiate between Primary market and Secondary market.
Which is a better market for buying shares for an investor out
of above two markets ? Explain how ?

TIfHF IR a0 fGies IoR F €9 o TR = 9
I ° ¥, T e ® fou few 9o § v @de
TEW RW? THIRT, FH?

4189/300/KD/399/Trans. [P.T.O.



4., (a) Prepare a sketch showing trading mechanism at NSE or
BSE.

(b) Describe the role and functions of Depository.
(F) T.TEE ven fugi W 2fEn frafafy + goie go
UF WY TR H
(@) =IE ® qfFF q@ FwE w1 A0E HifQ
5. How will you calculate intrinsic value of equity capital ? Show
the use of dividend discount model in valuation of equity stocks

if holding period remains one year, three year and infinite
period.

I S O # Tafas e W T BE w
I ©F ® TE § A g2 Hied ® ST wm
TUEY, Wefe o o/@fy, TF a9, 99 v qun Tt
HTA FH B

6. Differentiate between the following :
(a) CAPM and APT.
(b) Markowitz and Sharpe model.
frAfafae = &= M =9y :
(%) gLudiug. 9w Tdd
(@) Arhifaes qen Y Hise|

7. Explain the need and methods of Portfolio Performance
Evaluation techniques. Give illustrations to explain.

EHIfeT e qoaisha qekiehl @t Aeawasa qon fafea
F wuERT W & fag o e
8. Write short notes on the following :
(a) Stock options.
(b) Index options.

4189/300/KD/399 2

(c) Stock futures.
(d) Technical Analysis.

(¢) Fundamental Analysis.
frafafes w dfya Fe fafex
(%) & |

(@) =B AT

() wF T

(=) Tt fereereon

(F) 3MuRsE foreaison)

4189/300/KD/399 3



Roll No. ..o, Total Pages : 7

DMDQ/M-16 4217

COMMERCE
(Security Analysis and Portfolio Management)
Paper : MC-603

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. The first question consisting
of 10 parts of 4 marks each is compulsory. The length of
each part should be restricted to one page. Attempt any
four questions from the remaining seven questions carrying
10 marks each in up to 5-6 page length each.

AT ;T Ut we ® IR AT v | 1 stfer € e
10 w1 ¥ ok w&w WM 9w ofw w1 R, y&@w 9w
SW TH T ¥ AfE F B A w ER W = g
AE I H U HY, TS 10 S H ¢, W TF T FH
IW 5-6 I9 § Afuw & A

Compulsory Question ( 3framd W)

1. Write notes/answer the following questions :
(a) Different types of margins.
(b) Efficient portfolio and feasible portfolio.
{c) Beta and its role investment decision-making.

(d) Security market line.

4217/1,100/KD/1639/Trans. (P.T.O.



(e) Arbitrage Pricing Theory.

2, What are the methods adopted to analyse the financial
(f) Jensen's performance index. statemernts of a company? Explain any four company specific
' . factors which have bearing on investment decision in securities
(g) Treynor's performance index. ) -
like share and debentures.
(h) Volume and Breath indicators of market. ) ) ) .
TF T w1 e faan w5 favewn ®9 # far SR-49
(1) Signtficance of Head and Shoulder patterns in the . .
) Sign . P THl H T W g7 fRe ot TR s % fafre
technical analysis. . .
y . ) FHI HI T FITC A I IR feSR w1 wE qfagRmE
€)] easures of competitiveness of a company. . . A .
 fay & $9d W R 1 guawt =)
/= ol & AW fafan
3. Answer the following questions in short :
(F) 7t # fafa= w&r) .
(a) What is a secondary market?
(@) F¥@ I SR wafEm aewteE (b) How are stock exchange regulated?
(M FrEwm w1 fofa ol F S R IR Cieal (c) Explain different types of orders.
(d) What is day trading?
(|) &I 9w e . :
(e) Describe rolling settiement.
(%) et % 7= Frfen = fgr w5 o frafafgd wedt w1 s T
() S F TG IR (%) & ffaw Tom 5 ey €2
(3) FrE3IR =1 R gEFE| (@) 99 SR +4 fataing frg 9@ #2
(F) T9R # " SR Fod Fawaw| (M Ml & fafe= v w1 gHeE
: ¥
() T favewm § 3T T wewt Y @ W () fo 1 FEw ol Fed ¥
. (F) W deome F FvR _
() TF F F Afemi ® ST Fifg
4217/1,100/KD/1639 2 4217/1,100/KD/1639 3 [P.T.O.



Which are the parties involved in the issue of shares in the
stock market? What are the different functions of the lead
managers, registrars, and underwriters? What are the steps
taken by SEBI to protect interest of investors?

IR AEE F IW I wE H WS uidn weed
dre FoR, TR R dewmed & = wd w0
%&ﬁn%%@dﬁgﬁﬁm@&ﬂa%
R

An investor has a choice of three stocks for
investment. Their rates of returns and probabilities are

given below :

Stock A |Stock A| Stock B
Return% | Prob.

Stock B| Stock C | Stock C
Return% | Prob. {Return%/| Prob.

-30 2 -20 15 ~20

(1)

00 A 0 35 10 4
30 3 20 45 40 3

70 | 1 40 05 80 1

Are these stocks attractive investments? Give reasons based
on expected risk and returns.

4217/1,100/KD/1639 4

4217/1,100/KD/1639 5

w Feww % w faw & o 99 I o famen
I9F fed o muEel w1 ¥ A @ om

faw A |fEw A | FEw B | few B|fiew c|few C
fede | 9amm | fede | v | fede | gaman
-30 2 ~20 15 ~20 2
00 4 0 35 10 4
30 3 20 45 40 3
70 1 40 05 80 1

W I F Ay fEw B w2 Sui e s @
ifgm R fied & aem =1 wro Afg

A person owns a Rs. 1000 face value bond with five years
to maturity. The bond makes annual interest payments of
Rs. 80. The bond is currently priced at Rs. 960. Given
that the interest rate is 10%, should the investor hold or
sell the bond?

TF oaf@ 9| §9e 9 ufigem gH gl 1000 w9 sifEa
T F WIS F WH F AT 80 T AT AR H AN
A ¥ AR T W F BT 960 T 21 qE @ 7 H
9 R 10 Wfaem R v @ aie av A W e
E @E AJnfEa?

[P.T.O.



7. Describe the

chart patterns that help to identify trend reversal.

How are moving averages useful in studying trends and trend

reversals? Explain, in very brief, the basic principles of Dow

Theory.

ﬂﬁiﬂ%ﬁ&%%%ﬁam
@ﬂﬂ%%%@mﬁm%&ﬂ%&ﬁﬁﬁﬂ
%ﬁﬂmﬁﬂimﬂﬂﬂiwwm@ﬂ%m%
Hﬁm%&ﬂﬂﬂd&iﬂﬁﬂ

§. The estimates of the Standard Deviations and correlation

co-efficient for three stocks are given below :

Stocks Standard M Correlation with stocks
Deviation , A B C

A 32 1.00 -0.80 0.40

B 26 -0.80 1.00 0.65

C 18 0.40 0.65 1.00

If a portfolio i8 constructed with 15% of stock A, 50% of
stock B, and 35% of stock C, what is the vonmo:o_m standard

deviation ?

4217/1,100/KD/1639 6

w1 oA A= fem m ®

.

=i T . -
Vi F WY geHay
m A B C
A 1
] 32 1.00 -0.80 0.40
26 —0.80 1.00 0.65
c .
18 0.40 0.65 1.00

FE GEEEA =F-A B 15%, ¥ 50% ©F-B IR

-

354 Vi&-C d9
fagem = ®2

4217/1,100/KD/1639

T W 2 @ UeEtR w1 ueE
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SfEmyo # ; MDE/(12-13)/M-16 4322
TR A G- FINANCIAL MANAGEMENT AND POLICY
Paper : MC-204
THE TR i qFZ qE R ES)
2000 5 2000 1 Time : Three Hours] [Maximum Marks : 80
4000 3 4000 4 Note : Attempt five questions in all. Question No. 1 consisting of
6000 3 6000 4 10 short answer type questions {attempt any six question)
of 4 marks each is compulsory. Attempt the remaining four
8000 2 8000 1

questions from Q. No. 2 to 8.

T w@ U WF B T gen | faed ©: oy sedm
T (YT 4 3iF @) €, ofrad #) 9= # ww 3
THE 298 H ¥ g

Compulsory Question ( 3@t wyT)

1. Explain in short :

(a) Modern Approach of Finance function.

(b) Watered capital vs. Over-capitalization.

(c) Define Shareholders wealth.

(d) Risk and return trade-off.

(e) What do you mean by cost of retained earnings ?

(f) Commercial paper as a source of Working capital.

(g) Concept of Optimum cash balance.

(h) Capital Rationing Decision.

(i) Need for capital expenditure control.

() Cash credit facility. (6x4=24)
4322/1,400/KD/1436 4 4322/1,400/KD/1436/Trans. [P.T.O.



gy o gEERy

(%) fodg SR o1 sy gfesm
(@) T oot FAm - sAfa- gl

(1) FRUTF H gEA H g F1l
() SifEw ik =R s F A
(T) v #oE | o9 Fn oaEe ¥?
(7) TRy w-FEvie S ® TE & §9 H
(D) T=AH THE TN HT FALRT

(%) gt o ok

(F) Yot =3 frgao i AEvgwl
(|) THg H/O Fawm

Define Financial Management, and explain the role of Finance
executive of a Multinational firm.

fada wEy ) TRwfe w3 o wguwa wmw ¥ faw
FEF ®1 gt F aEed)

What do you mean by Time value of money ? Explain the
important approaches of Time value of money.

VIR FH T Y N R THE 4 R W T B
et sfewiol w1 TRy

The market value of shares of a company is Rs. 40. It has
paid a dividend of Rs. 4 per share last year. The investor's
market expects a growth rate of 5% per year. Compute the
company's equity cost of capital.

4322/1,400/KD/1436 2

If the anticipated growth rate is 7% per annum, calculate the
expected market price of the share.

fpt FON B T F TR 9@ 40 5 ¥ TR fred o
4 T WA IR oS F PEE R d1 feEwe @ oaer
5 gfaem Wi o9 @ gfg T FT I HE@ B FEA B
s gt o @t T

oz srqfa gfg =0 7 Yiaww fF ad 8 @ IR erufm
TER 9@ HT A FW

Define Working capital, and explain the important sources of
financing temporary working capital.

Frsie 9ot w1 oftfim #R o e ot A1 e
fao-vary % TEwqul i % HHHC|

Critically explain Baumol's Model for Cash Management.
TFES TEH F U SREE # AT & AT avH
Eal

Define capital budgeting and explain various steps involved
in capital budgeting process.

Yo Tl W OuRWE wE iR ge wefen W ufe A
fafeq fafm = =1 wmgm)

From the following information, ascertain which of the project
is more risky :

Project-A Project-B
Cash flow Probability Cash flow Probability
2000 2 2000 1
4000 3 4000 4
6000 3 6000 4
8000 2 8000 1
4322/1,400/KD/1436 3
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MDE/(12-13)/M-16 4324

BUSINESS STATISTICS
Paper : MC-206

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is
compulsory.

#“mﬁﬂﬂﬂiﬂmﬂ%_ﬂuﬂg_ﬁ@ﬂ
2

Compulsory Question ( 3tF@Rt wys)

1.  Answer all the following :
(a) Whatis Reliability of estimate? Explain.
(b) State and describe Standard error of estimate.
(c) Describe construction of Consumer price index.
(d) Explain the problems in construction of Index numbers.
(e) How are Seasonal variations estimated? Explain.

(f) Describe the components of Time series, in brief.

4324/1,400/KD/1598/Trans. [P.T.O.



(g) The simple correlation coefficient between temperature
(x,), yield of comn (x,) and rainfall (x;) are as given
below ;

Xpp= 0.59, ri3 = 0.46, ry; = 0.77.

Calculate Correlation coefficient, R, ;5.

(h) The incidence of occupational disease in an industry is
such that the workers have 20 percent chances of
suffering from it. What is the probability that out of 6
workers 4 or more will come in contact of disease?

(i) What is the probability that a leap year, selected at
random, will contain 53 Sundays?

(j) A can solve 90 percent of the problems given in a book
and B can solve 70 per cent. What is the probability that
at least one of them will sclve a problem selected at
random? {10x4=40)

frafefEe ot g & S ST .
() STFeM F F favagEa ¥? 9uwET)

(@) TFFT F WAF A F FARC F IEH A
FIfST)

(M) TuE YEd GEE I WA FoSEn Ff
(%) GEHER F W Y FEla wrensd # geet
(=) drad e A Y et R S 37 T

4324/1,400/KD/1598 2

() @ 9ot & Wl #1 Aiwa T wifw

(®) AW (x)), TFH B TR (x,) T T (x,) B
9 YR WeEsy TONH Y FER 5
X5 = 0.59, rj3 = 0.46, rpy = 0.77.
TEGs TOF R L, F MO HAC)

() TF 3 § FEI F 99 W § @ifsw #H &
saER 20 wfavE ¥ 39 W S I whea § fF B
FEM B T IR A s T H gmE ¥ M)

(¥) ™ 9@ Ht 7N Wfawa € fr 95559 @ U T @iy
T4 A 53 EER B

() ATE 7% ¥ Ry mu o0 wigwE wet &1 wen B 70
yfave e F1 T HL WAl & 39 91 H1 g4

wiEd ¥ fF ageew W W TE WH A F @
FE TH TF I AM?

2. The following table gives the number of days in 50-day
period during which automobile accidents occurred in

a city :
Number of Accidents : 0 1 2 3 4
Number of Days : 21 18 7 3 1
Fit a Poisson distribution to the data. (10)
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TH MR W 50 A W ey & SN @ A gl W
ven N afee H @ R ¢

THeASS w ST ¢ 0 | 2 3 4
&= w g 21 18 7 301
T wel & fau =l foao =t ofd i

In a bolt factory, machines A, B and C manufacture 25 percent,
35 percent and 40 percent of the total output, respectively. Of
the total output, 5, 4 and 2 percent are defective bolts produced
by the respective machines. A bolt is drawn at random and is
found to be defective. What is the probability that it was
manufactured by machines A, B and C respectively?  (10)

TH dce ® FREH H WA A B M C FHA IUEH ®H
FOY: 25 Wiawd, 35 WY qe1 40 WhAvE SeRd w2
F IR H H W e 5, 4 qwn 2 whiew S
el T IR FE B TF oS H AT A T a4
I8 Auyel g v T WM B F WiTed @ R oaw
FA: W A, B A C U 3IAed fFa w g

The coefficient of correlation between the ages of husbands
and wives in a community was found to be +0.8, the average
of husbands' age was 25 years and that of wives age was 22
yvears. Their standard deviations were 4 and 5 years
respectively. Find with the help of regression equation

(a) Age of husband when wife's age is 16 years, and

(b) Age of wife when husband's age is 33 years. (5+5=10)

4324/1,400/KD/1598 4

TF WEE W Uil @ ool # oy ® W weday
O+ 0.08 WA T, ufaE w ofwd 3w 25 Ay aen
e #t 22 a9 ot 3% mE fawem ®wE9 4 9 5 9§
| gierm T B WERd R A St

(F) ufa #T Mg Faf® TeN H g 16 W &Y, qA
(@) T F1 I wEE ufa & g 33 99 7

Below are given figures of production {in million tonnes} of

cement :

Year: 2004 2005 2006 2007 2008 2009 2010

Production : 77 88 94 85 91 98 90

(a) Fit a straight line trend by the 'Least squares method'
and tabulate the trend values.

(b) Eliminate the trend. What components of the ttime series
(5+5=10)

Tz F IEA & affme  (fafem = ®) 9= o o €

are thus left over?

¥ ;2004 2005 2006 2007 2008 2009 2010

JAEA - 77 88 94 85 91 98 90

(%) ‘o o fafy’ gR W @ wgfe w o i
a e ® o i AfawEE S

(@) vgfa F oA B 70 TR HFA Iv1 F FA-9
WEF a BA?
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What are the tests to be satisfied by a good index number?
Examine, how far these are met by the Fisher's ideal index
number? (5+5=10)

TF o= gEEE g R wleml # gge fE e 22
e wifau fF 3 fFm % oyt goiw g %l %
f B 82

Write notes on the following :

(a) Base shifting and splicing.

{(b) Properties of normal distribution. (54+5=10)
frafafes « 9= fafge

(F) JMYUR TR0 qa A1

(@) am= oo & 7o

Prize tickets are numbered from 1 to 100 and they are well
shuffled, and a ticket is drawn at random. What is the
probability that the drawn ticket has

{a) An even number,
(b) The number 5 or multiple of 5,
(c) A number which is greater than 75, and

(d) A number which is a square ? (Qlax4=10)

4324/1,400/KD/1598 6

g 1 @ 100 7% B TR RS A o W WA T
mﬁnﬂ@ﬁﬂﬁﬂ&ﬂ@ﬂﬂ_ﬁmﬂﬂﬂn@ﬂa
3 f5 T T feRe g

(%) ¥R WE

(@) e 5 W5 H P H,

(m) wen s R 75 & wE AL A

(=) T dem S fw o A
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MDE/M-16 4357
HUMAN RESOURCE
MANAGEMENT
Paper-MC-201
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. The first question consisting

of six short answer type question is compulsory. Attempt
any four questions carrying fourteen marks each out of the
remaining seven questions.

Fo ufer T ® IW AN T g | e
oy oe: oy U9 YR ¥ 9w W@ § § fEEl 9
T ® TN AR, TEF W 14 FJF F T

1. Compulsory Question ( 31FETE w¥)

Answer to following questions should not exceed 150 words :

(a}
(b)
{c)
(d)
(e)
(f)

What is Job description ?

What are the benefits of Induction ?
Distinguish between training and development.
What is Recruitment ?

Explain the Importance of Job Satisfaction.

What are the causes of employee transfer ? (6x4=24)

faAfafed &% 9¥9 &1 S 150 K d% § s
(%) ¥ oo F= g 22
(@) TSHH & 77 Y 87

(m

)y yfveor qen fawg # €9 @ SdRu
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(F) 9t w0 B B

(T) F4 Hqfc & e &1 WA

(9) FHAE TFR F F FRT E7

Explain the nature and functions of human resource
management.

UHE TERE YEEE R WHG T HE F SR
What is Human Resource Policy 7 Explain its importance and
features. Also discuss various types of human resource policies.
T waA Af w® Ent 27 T Te au favmaen
Togmeel fafr= @@ #1 AFe gam Afaw #= o =9
Fifsm)

Explain the meaning and types of selection Interviews. Also
discuss the major mistakes and problems involved in using
interview as 4 selection device.

T9 TN WETHE ® A d FEW H GEAEUl TETERR
F T H UE ST F aR W ITEN W H g
TAMTA w wEEnet w1 of == wifsu)

Distinguish between Employee promotion and transfer.
Whether promotion should be on merit or seniority basis ?
Discuss.

FHET YEAG a9 T FOFE 39 TRl qS=d
I A ANSA MU W BAT el ® 9w

Explain the meaning and features of Career, Also discuss
various stages in career of a person.

Fhm 7 wd 7 favivas % 99emEn A3t § i
T fafq= =on &1 9 == wifen)

4357/4,500/KD/1411 2

Explain the meaning and importance of Executive
Development. Also discuss methods and techniques that can
be used for developing Decision making skills. interpersonal
skills, and job knowledge among executives.

Afuemdt o & w1ef 3 wEw w1 gweRw 39 fafwa qen
T =+ == wh o o FIvTEA, ﬁmﬁﬁmﬁ

What is stress 7 What are the major sources of stress
T F T B? 9 % WA W O E

4357/4.500/KD/1411 3
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MDE/M-16 4358

INTERNATIONAL BUSINESS ENVIRONMENT
Paper : MC-202

Time : Three Hours] IMaximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

AT : A Oy H IW AW W Few | st d)

1. Compulsory Question (3@ ¥yT)
Answer the following in brief :

(a) Discuss the nature of International business. 4
(b) What is the significance of studying Geographical
environment ? 4

(¢) Discuss the types of technology transfer :

(i) Internalized.

(ii)  Externalized. 4
(d) Define Generalized System of Preferences (GSP). 4
(e} What are the different types of Regional economic

cooperation ? 4
()  What are the features of Foreign exchange market 7 4

fr=fafeg v % afta s ST .
(%) AT =EEm F1 W ® 9= Fiihg)
(@) Jrifes wafmn & serT w1 T vEE 2 7
() THAHRT TR $ THR Hi TE9 FiSQ
(i) ol IR =,
() @ I w®
4358/4,500/KD/1247/Trans. [PTO.



(9) FhFast ®1 Sfigd TOme (GSP) w1 uftanfva
Fifea

(¥) weira srfdes wedm = fafas wor F & 2

(=) faieh fafmm smm =1 w=n fadwa & 2

"Political and Legal environment is the key of framework
for analyzing International business environment."
Elucidate. 14

" sia SEwiTE Wi # favewm # fae oerfae
TE HA e geee g 817 fade S

What are the different types of Foreign investment ? Also
discuss the barriers in the way of Foreign investment. 14

el fraw & faf= v == € 7 fdeh Fawr & wrt &
Frrel w1 ot == wifsg)

Discuss in detail the objectives, functions and principles
of WTO. 14

TRLASN (WTO) % Iewdl, F/ ] qeon fagidi @ famm @
== Fifag)

What are International Commodity Agreements ? Why
there is need of such agreements ? Explain it with the help
of OPEC. 14

I FOfES T =0 € 2 oW gl ® oEvEEa
2?2 AT H W W EERE

4358/4,500/KD/1247 2

"NAFTA is the largest trading bloc in the world." Comment.
What is the significance of NAFTA for Member country
individually ? 14
"I (NAFTA) fava &1 720 921 =mr 2 & feoof
FIfTY T T # fom =T R W TR (NAFTA)

w4 WIS B

"SAFTA 1s the least successful Regional economic

cooperation.” Explain the statement. Give your suggestion

to make it a successful Regional economic cooperation.
14

“OIRT (SAFTA) 999 %19 T%a &ty anfeds gegm 21
T FH H IR T TF 9Fd a9 ohiE wEam
T ¥ I g e

Define Foreign Exchange Risk. What is its nature ? How
will you manage Foreign exchange risk ? 14

faeet fafr wifem =+t oftafim Fitw @F =01 W=
27 o fadeh fafrmn Sfew &1 wo=@ 59 58 7
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MDE/M-16 4359

STRATEGIC MARKETING
Paper : MC-203

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 in Part-A is
compulsory which carries 40 marks, Attempt four more
questions from Part-B carrying 10 marks each.

e : FA Ui g ® IW AR sw-A T "en |
AtEd &, S fe 40 3% F1 %1 9-B 9§ R WX
T F I A, T&E W 10 3% w1 R

PART-A ( 9TT-A )
Compulsory Question ( 3TFaT wy)

1.  Write short notes on the following :
(a) Discuss the hierarchy of strategies.
(b) What is custom environment?
(c) Distinguish between mission and vision.
(d) Distinguish between policy and procedure.
(e} Distinguish between SWOT and PEST analysis.
(f) What are the benefits of vertical integration?
(g) Explain the relevance of gap analysis.
(h) Discuss the limitations of GE matrix.
(i) Discuss the elements of product mix.
(J) Explain the various forms of franchising,

(k) Explain the low cost strategies.

4359/4,500/KD/1384/Trans. [P.T.O.



frafafas w sy A fafae :

(F) THIfE & TEgEd w R

(@) FEeH AEERT 1 €2

(M faw @R foem % d9 SR SaRu

(9) Hifa g wfEm & 9 R TRy

(¥) @M= (SWOT) a %= (PEST) fawermm % = sim
EGIE

(%) e THIET F F AT §

(B) AR o favomm & Tow F HEEEU

(%) SitE (GE) Bfesw =t dtmell w == =it

(%) SR fagm = T F T= wifaw)

(=) waehi & fafrs = = gwEm

(T) 39 A WHITTR 6 TR

PART-B ( ¥T1-B )

What is resource allocation? Discuss the techniques of resource
allocation. What problems are associated with this?

TEME TSR 1 87 GUYA @A &1 qEdisl i wdl
Fifom o g9t & T w2

Discuss in detail the steps involved in the process of strategic
planning.

wHIfEF o &t wfwa ¥ afmfed =won w1 fage ==
FIfU)

4359/4,500/KD/1384 2

What is environmental scanning? Discuss the various sources
for environmental scanning.

T STEAF F 2? ey Faemd ® o
o F T s

What do you mean by portfolio analysis? Discuss the
applicability of portfolio analysis in business.

SRR favenor @ e T 3 @2 wHEam § wewifeEt
foveon 1 yaEar 1S9 Hiaa)

What are the reasons for the companies to enter in foreign
markets. What market strategies company will adopt to enter
in mature market.

fadsht o ¥ wURET & Ww w0 R w9 w8 TH
fiea aR B ¥av & & fau FEE1 {69 e wEitaat
AT ?

What is re-positioning? When it takes place? Explain various
strategies to reposition the brand in the market.

T TGN N OB 87 9% %A Bl €7 AR WSS FHY
T fefs # fou fafrs wrifel & aemw
What is the need for evaluating and controlling the marketing

strategies? Also explain the steps involved in the controlling
Process.

forque R % EiEe aur At 1 R sAEvasdl
¥7 Frim ofem o wfter =00 = o TR
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The projected cash flows in terms of profits before depreciation
and after taxes are as given below :

YearI YearIl YearIfl YearlV YearV
Project X (Rs.) 5000 10,0600 10,000 3000 2000
Project Y (Rs.} 20,000 10.000 5000 3000 2000.

weE } fF freafafan @ doe @ wh-w wiea fea
o =ifer IfE g2 W A 10 Wve we fe WM
Tretee-X qeae-Y

ity fEm 20,000 . 30,000 %.
ST 3T 5 | 5 | A
Fafime g 1000 . 2000 %.

THE FAE N SAA FE U TR IR B ® A5 o B
w9 § 9 wER ¥

Fg 1] S @I FWIV TV
WS X (5) 5000 10,000 10,000 3000 2000
W Y (8.) 20,000 10,000 5000 3000 2000,

4360/4,500/KD/1435 4
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MDE/M-16 4360

FINANCIAL MGT. AND POLICY
Paper : MC-204

{Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 consisting of

e

six short answer questions of 4 marks each is compulsory.,

F U W9 w1 W e | fed B oy Iwim
(Y& 4 3FF @) aAfEe R

Compulsory Question ( 3F@Td w9T)
Explain in short :

(a) Role of Finance executive.

(b) Need for Financial planning.

(¢) Short term sources of Finance.

(d) Motives of holding cash.

(e) Profitability Index method.

(f) Recent issues affecting Finance function.
WYY § WHIET ;

(F) fore wHwT F s

(@) fadrm faem =1 sravasan

(M) e F g sEfy ® F

(%) ¥ @A F I

(¥) amvEa gaEshie fafi

(=) fadrm &= ® awfam FH 9 TEHR TR
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2. Define Financial Management, and explain the scope of
~ Financial management.
foda wau =+ afonfia w0 ol fada wav & &9 =
quEn|

3. Define Present value of money, and explain the various factors
affecting the P.V. of money.
¥ % FHAH qed &) uRfd & SR o9 % aee g
F! yafaa w0 a7t faf= s w1 qEEmd)

4.  Describe the various steps involved in the process of Fixed
capital requirements.

Ffrem Osft =1 sTavaFaet § wite fafss =i 1 9oiA
Ea{

5. A compary is considering an expenditure of Rs. 60 lakhs for
expanding its operations. The following information is
available :

No. of existing equity shares = 10 lakhs

Market value of existing shares = Rs. 60 lakhs

Net earnings = Rs. 90 lakhs.

Compute the cost of existing equity share capital and new
equity capital assuming that new shares will be issued at a
price of Rs. 52 per share and costs of new issue will be Rs. 2
per share.

4360/4,500/KD/1435 2

TF FHTH 0 g #1 faar @ # fag 60 @@ @
% =@ R faar = @ # fEfatEn STAed swes 2
faemm 3feadt s =1 wen = 10 dm

faer Pl w1 AR T = 60 TIE T

S FHE = 90 @@ T

foreram st v oiR 2 SRl TR #1 wEE # o

T I gU F R @ IR 52 % v TR @ 9| W9
fF S R T g w1 We 2w 9 YRR enh

Critically explain the application of CAPM for computing
cost of capital.

TN B R F OO A ® o Studun # sewEm
] THETHF 21 ¥ GEE)

Describe different types of Working capital, and explain
various determinants for working capital.

fafi= yFR *1 FEEie 350 #1 que B SR Frivie oot
# fou fafo= faas = ge=ml

Suggest which of the two projects should be accepted
assuming discount rate of 10% :

Project X Project Y
Initial Investment Rs. 20,000 Rs. 30,000
Estimated life 5 years 5 years
Scrap value Rs. 1000 Rs. 2000

4360/4,500/KD/1435 3 [P.T.O.



WO T T T = 2,500
EIETSk R

Hedt adaa 5. 12 000
WA T ORE

4,28.000 4,28,000

(1-4-1996 &) C f&a, D & =1 smwifm w0 R, Frafafed
v % 9 WEHd B T e

(1) ¢ f&a T & fafeg o afes ofaa =
afrEm wT @

(i) 98 W & 10 T9F B 6 Favm HEA FEa w9l
T TE FH RO GARFH 1 10 gfavm Wi em
FHAM

(iii) F% %. 10 U&F & UH T Ve Sl FHOm qer
D fa o wa@% @ T v % faftma w w4 =g
F1 AR FOT

(iv) fofas woRm, ST F F1 90 Favh, IFF <@ F
of frgem & C fA. % % 10 ¥ TR F P gt
S YR F €T H W &

(v) @ TREEWE H 10,000 IFEE TR, 10 TAE
# ¢ fa 4 90 fen wman

3q ey w s FE ® fom ¢ A w1 § S

wiafeai wm wifsn T A D O @ w9 FHF

fou oTEyg® @d S SR
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4361

MDE/M-16

CORPORATE ACCOUNTING
Paper : MC-205

[Maximum Marks : 80

Note : Attempt five questions in all including Q. No. 1 which is

compulsory.

e - ﬂmn@i%mﬂ%ﬁﬁ_ﬂuﬂg_ﬁﬂﬁw_

1.

Compulsory Question ( frard 99 7)

Describe the following :

{a) Factors influencing valuation of shares.

(b) Lease Accounting.

(c) Objectives of periodic reporting.

(d) Advantages of social reporting.

{e) True and fair disclosure in the accounts of a company.
(f) Divisible profits. (4x6)
frfafigs %1 e g

(F) ¥ # gea-fuie F i = A FRE
(@) S TEF

(M) sty fifén % SEEEA

(m) wmefer frofdn & =

(T)TF FT F @R w1 T AR o wEw
(=) favgsg =

Explain the need for segment reporting. What steps have been
taken in developed countries in this report ? 14

ﬁ%%ﬂﬁﬂﬁgﬂﬂﬂaﬁ_mﬂ@dw&m
79 Hed § T FEH Sem M ¥7
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3. State the need for harmonisation of financial accounting and
reporting. Describe the main obstacles in the harmonisation
of company annual reports at the International level. 14

e =i e ffEn $ FEEER # SEvaET
AT AU WX R T I A W ®
H gea Tne ®1 o i)

4. Discuss the different methods of Human Resource Accounting.

Which one of them will you recommend for adoption in India
under the prevailing circumstances ? 14

e gEA o W fafee faRmat s e witw
afem affeufei & 78 9Ra § oM TH § fee oTEH
F gaE M
5. How will you deal with the following items in the
accounts of a joint stock company ?
(i)  Profits prior to Incorporation.
(i1} Debentures issued as a collateral security.
(iii) Contingent liabilities.
(iv) Miscellaneous expenditure.
F T wE & fade et % FrAfaran
FT 9 FY F? |
(F) g9 9 43 el
(@) TerEE wfagfE ® w9 d I wU-TE
() aAERfEEE T
(en) fafaa =131
6. X Co.Limited issued 60,000 equity shares of Rs. 10 eachata
premium of Rs. 2.50 per share payable on application. The

amount payable on allotment was fixed at Rs. 4 per share and
an equivalent sum was due on a call to be made.

Total applications received were for 1,10,000 shares and after
consulting the Stock Exchange, the following scheme of

4361/4,500/KD/1385 2

allotment was decided upon.

Category A B C
Grouping of share 1-100 101-500 over 500
No. of applications received 1,200 175 5
No. of shares applied for 70,000 35.000 5,000
No. of shares allotted 42,000 14,000 4,000

It was decided that the excess amount received on applications
would be utilised in payment of allotment money and surplus.
if any, would be refunded to the applicants.

Samuel, who was one of the applicants belonging to category
A and had applied for 100 shares, defaulted in payment of
‘llotment money. Theodore who belonged to category C, and
vho had been allotted 800 shares failed to pay the call money.
Their shares were forfeited, after the respective calls were
made and reissued as fully paid up for Rs. 8 and Rs. 6 per
share respectively. Pass the necessary J ournal entries. 14

< Fof X T 10 TEE B T 2.50 W IR Wi W
mo.ooowﬂﬁgﬂﬂaﬂm%@ﬁaﬁﬂﬁw.ﬁaﬁ
R 5 4 9 SR foR 39 € Tum IR A W 3 R
&m_._o_oooﬂﬂaﬁﬂﬁﬂﬂmﬂmsﬂﬂmﬁ.ﬁ@
e @ uvEr frefatad eeed W T W R
Sroft A B C
T 1-100 101-500 500 ¥ W
o SEEAl § T 1,200 175 5
smafd SR H1 HEA 70,000 35000 5,000
sTEfed Il w1 HEd 42,000 14,000 4,000

ﬁﬁﬁﬂ@%@iﬂﬁﬁ%a@ﬂﬁaﬁ
W B R § wm R wem Fen w4t wiE
2. B aREE # agm w1 s
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fmorer < fF St A @ omdEe €, 3 100 ¥ ® feg
AT FFA o, T 5€ dEed TR F faE H TH T
fordreR = B S0t ¢ | ®, 99 800 T anafeq T e Wy
=2 i T & A 4§ fawet 1T 39 AR e HL o
T e I YT YA 5. 8 @ % 6 HE: T TR
et T 21 oTETEE WQ yfafedl 9| w

7. Following are the Balance Sheets of H Ltd. and S Ltd. as at
31st March, 2000 :

Liabilities H Litd. S Lud, Assets H Ltd. S Tid.
Equity Share Capital Fixed Assets 8,000,000 9,00.000
{Rs. 10 each) 10,00,000  7,00,000 Investments

in S Ltd. 5,00,000 -
General Reserve 2,00,000  3,00,000

Current

Assets 7.00,000 13,00,000
Profit and Loss
Account 3,00,000  3,00,000
Current liabilities 5,00,000  9,00,000

20,00,000 22,00,000 20,00,000 22 00,000

The following further information is furnished :

(i) H Ltd. acquired 30,000 shares in S Ltd. on 1-4-2000
when Reserves and Profit and Loss Position was as
follows :

(a) General Reserve—Rs. 5,00.000
(b) Profit and Loss Account—Rs. 2.00.000

(ii) On 1-10-2000, S Ltd. issued 2 shares for every 5 shares
held, as bonus shares at a face value of Rs. 10 per share.

No entry is made in the books of H Ltd. for the receipt of

these bonus shares.

(iti) On 30-6-2000, S Ltd. declares dividend, out of pre-
acquisition profit @ 20% and H Ltd. credited the receipt
of dividend on its profit and loss account.

4361/4,500/KD/1385 4

(iv) S Lid. owed H Ltd. Rs. 1,20,000 for purchase of stock
from H Ltd. The entire stock is held by S Ltd. on
31-3-2001. H Ltd. made a profit of 20% on cost.

(v) HLtd. transferred a machinery to S Ltd. for Rs. 1,00,000.
The book value of machine to H Ltd. was Rs. 75,000.

Prepare consolidated Balance sheet as at 3ist March,
2001. 14
31 W 2000 F1, H fA. & S fa F o9 vie fefated

2

Bt Hfa s . snfet u fa. s fa.
FFdt v g fror oTTETAT 8,00,000  9,00,000
(T. 10 ¥IF) 10,00,000  7,00,000
sfa. #
IREL]) 5,00,000 -
g fisd 2,00,000  3,00,000
ERLic]
anfeerat 7,00,000 13,00,000
g 4 7
= 3,00,000  3,00,000
TEEE AT 500,000 9,00,000
20,00,000 22,00,000 20,00,000 22,00,000
Freffertan e ga 39 TR €

(i) g f 3 st © 1-4-2000 %1 30 000 TR 3fsa fra for
ng 5 o qen o9 9 it feaft fea wwR 9 o
(F) g fsE- % 500,000
(@) =9 F B G- & 200,000

(i) 1-10-2000 %1 ST ¥ e 5 ¥l & e 2 T IR
S fpu, foat §F aeg T 10 T W o
4 fo & wd § W 9 e w1 Wi # SE wate
ERICARIE

4361:4,500KD/1385 5 [P.T.O.
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(iii) 30-6-2000 =1 § fat. 7 st q& wnw 20 wfoww # 2
AT fad fer auw H &1 3 HA w9 wf = |
I W W S 6L 2N

Gv)H T g0 =i #t 't W sfa 4 H fa m
T 120000 %1 F%E JaEnt S & g7 Al =iw
31-3-2001 ! w1 =2 forn a1 || & o ® 20
Tfaer &1 o9 g3

(iv) H fa. 3 sfa. =1t \efd 5. 1,00,000 § g&aaia &1l
H f&. = @i & |19 &1 909 T 75,000 9

31 11 2001 F1 TARRT Y99 3 TR iR

8. The following is the Balance sheet of D Ltd. as on 31st March,
1996 :
Liabilities Rs.  Assets Rs.
Capital : Goodwill 20,000
15,000 equity shares of
Rs. 10 each 1,50,000 Plant & Machinery  1,50,000
10,000 6% cumulative Stocks 80,000
preference shares of Rs.
10 each 1,00,000  Sundry Debtors 1,20,000
5% Debtentures of
Rs. 100 each 50,000 Cash at Bank 8,900
Employees’ Profit
Sharing Account 14,000 Profit and Loss
Account 40,100
Bank Overdraft 20,000 Preliminary
Expenses 5,000
Sundry Creditors 91,500 Commission and
Brokerage on
issue of shares 4,000
Interest accrued
on Debentures 2,500
Contingent Liability :
Arrears of Cumulative
Preference
Dividend Rs. 12,0600
4,28,000 4,28,000
4361/4,500/KD/1385 6

C Ltd. agreed to absorb D Ltd.. from 1-4-1996 on the following
terms :

(i) C Lid. is to take over all tangible assets except cash.

(i1) It is to payv the debentureholders at a premium of 10%
by issue of its 6% cumulative preference shares of
Rs. 10 each.

(iii) Itis to issue one equity share of Rs. 10 each and make a
pavment of Rs. 4 in cash in exchange of every two equity
shares in D Ltd.

(iv) Sundrv creditors will receive 90% of the sums due to
them in fully paid equity shares of Rs. 10 each in C Ltd.
in full settlement of their claims.

(v) Preference shareholders will be issued 10,000 equity
shares of Rs. 10 each in C Ltd.

Pass the journal entries in the books of C Lid. to record this
takeover. Also show the necessary ledger accounts to close

the books of D Ltd. 14
31 W 1996 & D fA. T e e fefafea €
“r;.. N @"_._.Wm.mm a0,
g5 Tefas 20,000
% 10 TAE & 15,000
I TR 1.50,000 =2 T UG 1,50,000
10000 6% WA LT IR, T 80,000
T 10 TIF 100000 fafau 3Em 1,20,000
100 TAF F
i HE-TH 50000 o% § THE 8,900
LIERnRE o) 14000 9 § T @@ 40,100
#F AW TR 20,000 WEfTF =3 5,000
fafay =1 <=0 91,500 FAE F TR wE
1 FHHEMA,
ERCIEIC 4,000
4361 4,500/KD/1385 7 [P.T.O.



frefatas 9 T AeEA IR QTR T SR F ARH
Tt WEF ] HEA T

deR T 0 1 2 3 4 5 6
PIEED 4 14 23 23 18 9 9
T8 SHEM & g w deEA o Fit #

7. Afirm plans to bid Rs. 300 per ton for a contract to supply 1000
tons of a metal. It has two competitors A and B. It assumes the
probability of A bidding less than Rs. 300 per ton to be 0.3 and
B's bid to be less than Rs. 300 per ton to be 0.7. If the jowest

bidder gets the business and the firms bid independently, what
is the expected value of the contract to the firm? (1)

TF FH F UG ® 1000 24 FI YR F T AIET & fou
ofi 29 T9 300 SO S HI AN &1 @R o Rt %
dr @ & T duEm 2 fF w300 ¥ Wl =W W
0.3 7% FI FH e oW GEA € 3R G 300 T YA T W
0.7 ¥ Y S T TFA B PR FEE FH SIS A ael
1 =M e © 3l wH was w9 9 Sl o 7, d Sl
% fou orfey # go9 #1 IR e wni?

8.  Write notes on the following :
(a) Base shifting and splicing.
(b) Problems in construction of index numbers.
(c) Properties of normal distribution. (4+5+5=14)

frefafon W sr=s fafey .
() ATHR TR N SiE
(@) guwH & o § wwed)
(M) " e & e

4362/4,500/KD/1492 4
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BUSINESS STATISTICS

Paper : MC-206
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, including Q. No. 1 which is

compulsory.
Az . =W ol TR T w1 W A 1 sfEd 2

1. Compulsory Question ( atfEd wv)

(a) Explain, in brief, reliability of estimate.

.

{b) The simple correlation coefficient between temperature
(x;), yield of corn (x;) and rainfall (x,} are:

«H_N = OMGu s\ww = o.&.mq w-Mu = O‘)N\_w.
Calculate correlation coefficient, ry, 4 and R 5.
(c) Briefly, explain Bayes’ theorem.

(d) During a certain period, the cost of living index goes up
from 110 to 200 and the salary of a worker is also increased
from Rs. 32,500 to Rs. 50,000. Does the worker really
gain, if so, by how much in real terms?

(e) Why do we deseasonalize data? Explain.

(f) A husband and wife appear in an interview for two
vacancies in the same post. The probability of husband's
selection is 1/7 and that of wife's selection is 1/5. What is
the probability that both of them will be selected?

(6x4=24)

(F) Fe H oA w1 favaeEEa w0 e

(@) T (x,), TH H I (x,) 3R A (x) F
WS Hegay ToF €
x,=0.59, ;= 0.46, ry; = 0.77.
ewaY ONE F A £y, AR R,y T

4362/4,500/KD/1492/Trans. [P.T.O.



() wE9 ¥ wled & fagia aueme|

(%) T T oafy B N T I H, T S A #
TEwE ¥ 110 § 200 iR Fwd # a9 # I
12500 | T 50,000 TF 1 9f5 g T TN HEwA
¥ 95T |, 09 B 8, qfE AW ¥ @ Fane ataE
w9 & foFam o g 27

(%) T0 Fi AfaTans @ H W FW 27

(9) TF ufq 3R oeht U @ wE % fag & w2 ffet
T R 38 T 9fF % 99s FoSt| geE 1/7
% ol TSt & wEE FY 1/5 B A GoEA @ B SA S
w1 999 fFa wm?

2. Arandomsample of 5 years on the yield of acrop, when observed
for seed (x,), rainfall (x;) and temperature (x;) revealed the
following information:

ri,=0.80 ri3=-040 ry3 =-0.56

5= 4.42 s, =1.10 53 =8.50
Obtain the partial regression coefficients, b, 5 and by », and
standard error of estimate 5, 5. (14)

T U 1 IS H 5 T B AgresE: T F o mn E,
& W (x,), TH (x,) 3R AR (x;) F1 W g M
@ Fr SRR 1w =

ri,=0.80 ry3=—0.40 Fyy = —0.56

5= 4.42 s,=1.10 $3=8.50
SR T TN by i bizp TS 23 F A T
oS Ffe FI W i

3.  What are the tests to be satisfied by a good index number?

Examine, how far these are met by the Fisher's ideal index

number ? (14)

4362/4,500/KD/1492 2

TF S YEEE WO ¥ g o & faw $ w wlem
fopa e €7 W FIRC R T8 Y gEHE GO 9 ST 87

4. Distinguish between trend, seasonal variations and cyclical

variations in time series. How can trend be isolated from
variations? (14)

T JEen © wafh ol de wxere o) Sw i a%erd % 9
¥g Ffw fafyumet ¥ wats w1 $9 svem a1 w87

5. (a) A cansolve 90 per cent of the problems given in a book

and B can solve 70 per cent. What is the probability that at
least one of them will solve a problem selected at random?

(b) If, on an average, 8 ships out of 10 ships arrive safely ata
port, find the mean and the standard deviation of the
number of ships arriving safely out of atotal of 1699 ships.

(1+7=14)

(F) A TF TF # < 7 Fwens 1 90 Ffwm q% gure
T W & ok B 70 YRR ¢ FHME FL GHA 2
TH Q@ FH Q FH U I5e5H 94 TEE F qHEH
HN T GAE 87

(@) R 10 Jer 5 § of9e 8 e UF §eume W giEE
FU Y TES @ 371 weA Tt 3w 1699 SETe |
¥ e w9 ¥ TESH 90 e ®1 Hen & WEH
fawem = @i

6. Thefollowing is the number of customers returning the products
purchased from 100 online marketers:

Number of returns 0 1 2 3 4 5 6

Customers 4 14 23 23 18 9 9

Fit a Poisson distribution for this information. (14)
4362/4,500/KD/1492 3
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MDQ/M-16 4465

FINANCIAL MANAGEMENT AND POLICY
Paper : MC-402

Time : Three Hours] {Maximum Marks : 80

Note 1 Attempt any five questions. All questions carry equal marks.

e . FF ura wwA & I A 9wt % 7% 9ue
|

MW

1.  Define Working Capital, and esplain the methods of
tforecasting Working Capital requirciments.
FTIS Am.m F1 gftarfag AT A FTHITS Awlqw 1
AATTEG ® CEams = il o gummg

2. Describe the purpose of holding cash, and explain the steps
involved in managing cash.
FHEal ifd FH F O[T T SMEAT
yavd o gfigfeg = & 99EET

qY TAHE

3. Detine Bills Receivable, and explin the role of tactoring
houses for management of receivabic.
g faeti w1 oftsyfog w90 39 wren ® YEus o e

4. Desceribe the roje and funcetions of 1o o



—y

Ditferentiate between Cofporale ToSUCTURNE and HINARcial —

restructuring. Explain the process of Corporate restructuring.

FNIRE TFHFT 71 forfa e & 99 @ waEn
FRUE [T 1 9w & g

Explain the factors to be considered for Lease financing.

e famam w fau femmofn #rel = gowme

Explain the process of obtaining finance from Venture

capitalists in India.

g fog v =@ # wfea =

HHART

Write short notes on the following :

(a) Define Sick Units.

(b) Alignment of Interests.

fiRga W aiya qie 1afau .

(&) 'HR TwEEl Fogfenfva e
(@) feal =1 @
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MDQ(13-14)/M-16 4598

IT AND E-COMMERCE
Paper : MC-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Ae . Fa A I ® SW U weR gew | st #

(b)

(©)

(d)
(e)
()
(g)

(h)
(1)
G

Compulsory Question ( 3F@aTd wev)
Distinguish between E-Commerce and E-Business.

Discuss the concept of e-banking. What are its
advantages?

What is the difference between an e-check and a paper
check?

Explain various types of Online Advertising.
Distinguish between CRM and eCRM.

Explain various features of Social Networks.

What are the advantages and disadvantages of
E-Retailing?

Distinguish between Primary and Secondary research
What do you mean by digital signature? Explain.

Discuss advantages of cyber laws.

(F) -39 70 3-faovm # 9 o 9dqEw

(@) -3fFn F uronr | == FIY TWE F AN 2

() 3-9%F de YW uw B W9 T AR 2?

(F) M y9R % fafg= T = ammE
4598/350/KD/1484/Trans. [P.TO.



(F) . ™ T (CRM) 7 & H. SR TH (eCRM)
F St I ARyl

(=) T Yeaw w1 At fawmae w1 aeERu

(%) i-fefem & @ s el @ #2

(%) woftw aen fgdes vy & = 9 FoRt

(7 fefres wxmer § oo # ol #7 T e

(3) TR FLA B A w oFE S

Discuss various elements, features, benefits and limitations
of E-Commerce.

t-wfod # fafs w, fadwanet, w qen drned W wwt
FIfAT

Explain RTGS. What are its advantages? Discuss various steps
of RTGS funds transfer process.

SR . S TE. (RTGS) 1 TSRl 39 F o 82
aR A S UE. T TEE whEd & fhe ww @ owe
Hifal

What do you mean by E-Wallet? Discuss in detail the various
steps to use an E-Wallet.

43z ¥ ame Fm ad ¥ i-0R W TWEE $H B
R =l #1 faga == Fifan)

Explain the concept of Social Media Marketing. Discuss the
fundamental laws of Social Media.

Troet fafea TEfen # uwon 1 wHemEw S ffem w
e A R =49 FiEu)

4598/350/KD/1484 2

What is Cloud Computing? Discuss various categories of
Cloud Computing in detail.

. ym. ﬁq .W.M . /m. % m m Wm W. %
fowm =@t Fifau
What is ERP? Discuss various features, components and uses
of ERP.
i s @, (ERP) ¥ 22 § om0 w7 fafis favtvme,
weHl qel SWEE # == S
What do you mean by Privacy? Explain B2B, B2C and C2C
privacy issues in detail.

WA @ anue @ wd §2 B2B, B2C TN C2C WiEAHl
T #t fowr | ween

4598/350/KD/1484 3



T THRTE T F MEFed B o w9 F g 9™
H g aw ¥ ifEffa F1 # fae ey #E-9 smavaw
TAANA FH TR ¥ AW defw B wa § 5w
THe @ gEfeE st & o o wifsa

4599/250/KD/1275 6

Roll No. ....ccovcvirienennn. Total Pages : 6

MDQ/(13-14)/M-16 4599

CORPORATE TAX PLANNING
AND MANAGEMENT
Paper : MC-402
Group : I
Opt. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. The first question is
compulsory having 4 marks of each part. The answer for
each part of Question No. 1 should not exceed half page.

M : FA ulw T B TR A W T 1 eFEE 1 we
T | % YS9 T SW ST U9 ¥ o W
T afEm

Compulsory Question ( 31F@rt wy+)

1. (a) Explain the deduction in respect of certain incomes of

Offshore Banking Units. 4
(b) Explain the 'Cold Chain Facility'. 4
(c) What are the tax incentives for Amalgamating
Company ? 4

(d) Write a note on 'Tax incentives to Amalgamated
Company'. 4

(e} Discuss Sale of assets used for Scientific Research. 4

4599/250/KD/1275 [P.T.O.



(fy Explain the tax planning in relation to repair and
replacement of an asset. 4

(g) Comment tax planning to Bonus Share. 4
{h) Explain the tax deduction under Section 33ABA. 4
(i) Explain the application of Tonnage Tax Scheme. 4

(j) 'Tax Panning is management of tax, not final solution of
tax problems’. Explain. 4

(F) % # ouAe R F 9@ F T H KA
A

(@) ‘e 37 Bfafad’ ® aEERy)

() TEIF FEA H T e we el g 87 TR

() ‘THFD FEEA F W G W TE AR for

(F) S FEYE # ¥aeW 'g W fama woee
F

(9) HOHA UE TEE % WE H H e w5 R
(®) 9| v 8 F e w feoon ferah

(S) ¥Rl 33ABA $ <A F H FA WA

() ZTI9R FT @ & o] €F FH TATRT

(F) ‘T P w1 YERE R, H gEens # afm
T JE |HeR

4599/250/KD/1275 2

“Tax planning is a legal and moral way of Tax Saving”.
Discuss the statement and describe its importance. 10

‘g P FX a9 @1 T AUt @ e e 2
W HUYT F AR @ T HEd GHHE

Explain the tax planning provisions in respect of Hospital.
10

e @ gEfm R e $ YEYE g

A and B want to set-up a business. They have two options for
selecting a form of business organization. On the basis of
following information suggest whether they should form a
Partnership or a Company :

(a) Estimated total income of the Company Rs. 25,00,000
(b) Estimated book profit u/s 115JB Rs. 40,00,000

(c) Estimated total income of the firm after deducting

Rs. 32,00,000 u/s 10AA regarding newly established unit

in Special Economic Zone. Rs. 28,00,000

10

A 3R B T FER 0w O 9w ¥ T I @
faweq ¥

(F) Al T
(@) F99

4599/250/KD/1275 3 [P.T.O.



frer gEell # aR W SR g i e 3 oERi
A AT FEAT

(F) A 1 Eta FE A 25,00 000 .

(@) ¥R 115JB ® F<0TG AT EAE AN
40,00,000 .

() WEER F TG RwA STE W 10AA F ITREE
oy anfds &3 o =% Tonfaq gTE & &9 3200000 %.
WH F e 28 00 ,000%.

Explain tax provisions in respect of Infrastructure
Development Enterprise. 10

Hawte faw ITFE ® T | FR WEUH ROy

Discuss the provisions of Income Tax Act relating to
amalgamation of companies. 10

FHEE F THFO B I H AFH AfFEm P yEyrE
T AR

Mr. A wants to start a business. Keeping in view the following
informations suggest him whether he should run the business
as a sole proprietary concern or a partnership firm :

(a) Estimated profit Rs. 12,00,000
(b) Capital of the business Rs. 10,00,000
(c) If he run the business as partnership firm :

(i) He will get Rs. 5,00,000 to his son B, as a gift to
contribute his share of capital.

4599/250/KD/1275 4

(ii) The firm will pay interest @ 12% p.a. to the
partners.

(iii) Salary to A Rs. 40,000 p.m. and to B, Nil, as he
will be a dormant partner.

(iv) Profit sharing ratio will be 3:2. 10

fi. A TF JEEd A w7 ARd 3 e geel @
YR W I% g I fF 95 =99E & A9 &
w9 H el OEe WH F ®9 ° AT H :

(%) AT T 12,00,000 T
(@) =Ia™ F gSit 1000000 ¥
(M) Ift =EEE wEERl wH F FT H oW wal:
() FE 94 43 B & &H H ¢S % faw 500000 %
IWR F A
(9) &8 TR F OGS W 12% H W Y =S

(F) fA. A &1 377 40,000 T WAHE 1 B 1 A
T, FEfE g ffeeg SRR g

(%) o9 3:2 & STUE W el S|

What are the necessary adjustments to be made to Net Profit
of the company to convert it into Book Profit for computation
of Minimum Alternate Tax ? Also explain the provisions
regarding tax credit in respect of MAT. 10

4599/250/KD/1275 5 [P.T.O.



Explain Sharpe Index Model. How does it differ from
Markowitz Model ? What are the advantages of CAPM
Model ?

¥ Yo Hied w TIART I8 WehiGeS wea 9 fEe
R o= 22 Sudiea (CAPM) #ige %1 Fn favmang
&7

Explain the various models used for the evaluation of
performance of a portfolio. Differentiate between the
Treynor and Sharpe indices of Portfolio performance.

TF URHIfeEl B wEeET ® geaied & fau g fGfe
e # IR U YHHET GEEa FEEHa & 3 a9
TaFiHl ® 9 FR TR

Explain various Portfolio Revision plans with illustration.

fafir= dewifea deiem et & ISE 9iea TeEEn)

4600/200/KD/515 4
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MDQ/(13-14)/M-16 4600

PORTFOLIO MANAGEMENT
Paper : MC-403

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and it carries 10 parts of
4 marks each. The answer of each part should be limited
to half page. From Q. No. 2 to 8 attempt any four
questions of 10 marks each.

HqE ;. g wew | atEd 2 5w 9m (v 4 o) #
YAF 9 T SW Y TS T HH BA e I
Tem 2 9 8 9% 0 4 <l uR wl & IW SN,
Y&F W 10 o o 2

Compulsory Question
(frard wew)

1. Answer the following in short :
(a) How expected return of a portfolio is calculated ?
(b) How risk of a portfolio is calculated ?
(¢) What is Portfolio Diversification ?
(d) What is an Efficient portfolio ?
(e) What is an Efficient frontier ?

(f) Define Arbitrage.
4600/200/KD/515/Trans. [PT.O.
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(g) What is the objective of CAPM ? 3.
(h} How is Net Asset Value (NAV) calculated ?
(1) How future contracts are useful to investors ?

() What factors affect the Call premium ?
Fefafem so = wfara s s .

(F) WEHTTA & T T FT A FY F A 22
(@) Tewifoa % sifem % T FE 7 S 2

(M) o fafadrror @ 22

(%) wrdem TEwfeE w2 $

(T) w&m i\l Fn 2?

() v Foufeafag Fwfsm 5.
(8) HTHEA. (CAPM) 1 T 399 7

(3 "het 99 g (NAV) #1 o1 B w1 SR 20
(F) a1 ey Faw # fau fee R s B ¥
() wia s % FA-1 TR gfEg ww 3

Distinguish between Put and Call options with examples.
How does the Black-Scholes option pricing model help in
determining the option value ?

T TN FE AW P A9 I[MEOT G HR F9RT
RNH-THIA T A Je-Fai dies i o 9 sifwm
T H T FH § GEaE 87

4600/200/KD/515 3

(a) The Sensex is currently 28000 and the Risk free rate
is 7 percent. The dividend yield is 5 percent. Find out
the Future price for a three-month contract.

(b) What are the margins charged in Futures trading ?

(%) qaFIF Fa9 F 28,000 W T A WfEw TR T
7 wiwm B wiem wwie 5 gfiew ¥ d owER ®
ey % fau 9=t g 9w Fifs

(@) 7=d e § 3 wféw o 9w #?

(a) Explain trading strategies for Options.
(b) Write a note on ‘Binomial option pricing model’.

(%) sfym # o e wrifaal =) wweEmE
(@) 'fgueiia wiem geg-frufto oed’ w s o fafeu

Ram Niwas has a Portfolio of five stocks with the following
expected market values and returns :

T fam & 99 U9 WE % UF e § faes
AT IR G gul o feE weR §

Stocks Market Value Return
(W) (9SR 75 9) (¥Ts9)
A 20,000 10%

B 25,000 18%
C 30,000 15%
D 1,00,000 12%

E 1,000 8%

1,76,000

Determine their expected return.

I IInfad Y FE it
[PTO.
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PROJECT PLANNING AND CONTROL
Paper : MC-403

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and consists of ten (10)
short questions having four (4) marks each. Answer to
these questions should not exceed half page. Attempt any
four questions out of the remaining questions, each
question carries ten (10) marks.

e w9 gew | AfEd ® NEE Tm ey swiy uW, T
4 3F H1, ¥ THE THF WA F I A" 39 g
F B Ifel I uvdt F ¥ e ww owel @ osw
AT, T=EH 9 10 IqF F B

1. Compulsory Question ( 3fa™ wyw)
Define the following terms :
(a) Feasibility study.
(b) Primary data.
(c) Project mix.
(dy Cash flow statement,
(e) Capital structure.
(f) PERT.
{(g) Time and Cost overrun,
(h) Investment appraisal.

4602/200/KD/516/Trans. [P.T.O.



3.

(iy Market Planning.
(j)  SCBA in India.

et 9ei 1 gty ST
(%) GEE ATTA]

(@) wafaF AFL!

(M) ufEreE fago

(%) T v ferarm

() i |

(&) 9.8 AL

(B) IO q AFTE ST
(1) fra9 geareA|

(7) \eR FEsE

() IR H AT

i+x10=40)

What do you mean by Project Planning ? Explain its
process. 10

ofEe FEleE | 3T F a9 87 TuE! uhwAne w
gz

Explain Technical analysis of a project. 10

qieT ® dFEl favermn § gHaEy

Discuss Financial analysis about a project by taking
imaginary figures. 10
e e B9 g e @ fae fave # Ay
=71 S

4602/200/KD/516 2

What is the Appraisal criteria and process of Financial
institutions ? 10

fota el 1 oA HAEE Al WiwA e

What do you mean by Social cost benefit analysis 7 10

QTR T oIS TAvemT ¥ ST s aed ®7

Differentiate between Project review and Project
control, 10

g g qen e fEEe # d9 S TaEl

Write down the emerging investment opportunities in the
field of Project planning. 10

e e % 49§ 39w few s w fateu

4602/200/KD/516 3



5. Name five well known national and five international stock
price indices. Explain the stock selection criteria adopted in
the NSE-Nifty. How NSE-Nifty is constructed?

TS § wE wfhg TR ok Sawsn YR % AW
foifan) R v ¥ WmE R g sEm g
e HIfY ETEl R = fmo f9 fe T 2

6. Explain role and benefits of depository services along with
the procedure of opening Depository account. Also give
highlights of SEBI ( Depository and Participants Regulation)
1996.

fenfaet @m @em #1 3fF & - s R gt
AR fenifoed afeds & wif #) Tremen = e S99
(feuifsrzdt o wfaufiat fafema) 1996 % 7o sedm
fagatl =1 wmemwl

7. Describe precisely the trading mechanism, settlement
procedure and margin requirement in Trading in futures.

TR FRER H wRER 95, fred e ot =R §
wiem ®1 TFvaEa F1 gUH FIfEm

8.  Distinguish between put and call options with examples. Also
give examples of option strategies.

T & WY P2 AR F fywed & @9 ofw wawRul
wH I fawen Wit 1 SERRw difeu

4604/250/KD/1490 4
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MDQ/(13-14)/M-16 4604

STOCK MARKET OPERATIONS
Paper : MC-407
{Group-I)

Time : Three Hours] [Maximum Marks : 80

Note : The first question consisting of 10 parts of 4 marks each is
compulsory. The length of each part should be limited to
one page. Attempt any four questions from the remaining
7 questions carrying 10 marks each in up to 5-6 page length
each.

de ;. vom ye fed 10 W ¥ ok vEw W W o & 2,
At ¢ TEw 9 Uw 99 o 9iftd W e 7
TR ¥ SR ¥ R, SN T 10 I w1 F v
T 5-6 U a9 Gifg @)

Compulsory Question (31fard wo=)

1.  Write notes/answer the following questions:
(a) What is primary market?
(b) Private placement
(c) Fast track issue (FIT)
(d) Rolling settlement

(e) [Explain the concepts— stop loss, churning, and profit
booking.

4604/250/KD/1490/Trans. [P.T.O.



(f} Explain the determinants of option premium,
(g) NSDL.
(h) ADR's and GDR,s.

(i) How are the accounting records maintained for buying
and selling of shares?

(i) Explain various types of orders at secondary market.

=7 e w1 3w S .

(F) Wt 991 fR8 FEd 82

(@) Ve wrHe|

() wE ¢F T (FIT)

(=) ufdn deeHel

(T) TFEH F I+ FI STHURW &1 TS, HOA SN
TATHREE! H TR Hifa

() wfes Wfem 3 fulo =t o= Fifsg

(B) TH.IHELTA

() TR ® IR StFIW F

(F) T’ 1 Tlg iR fam F TEpm fEE $9 T
@

() fgdas SR ® smw ® fafvw R w1 =mem
i

4604/250/KD/1490 2

Describe the methods of floating a new issue. How does book
building differ from private placement?

TH T WY W S FH & fafEt & el Fifsu
W g% fafeen WAz oz @ oW T @2
Explain the procedure of fixing price in an allotment of new

issue. What are the steps taken by SEBI to protect investors
in the primary market?

W FHG AR T T F AW F AT HE R AHA F
qrge Tt g wafns SR | ey e v ®
fou = wen I3M MY R?

Explain, in brief, the following :

(a) Procedure for online trading.

(b) Meaning and types of day trading.
(¢) Settlement procedure at NSE.

(d) Market- to- market margins and Value at risk based
margins.

= = gfem § quEme

(%) Semes 2fem =1 g

(@) f&7 # HUER # YR H

() TTEE W TN H A

() ¥R ¥ IR & A AR FfEn smfa oifE #
T T

4604/250/KD/1490 3 [P.T.O.
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Why should marketers take note of various stages of Consumer
decision-making process ? Discuss marketing implications of
all the stages.

Giving suitable examples, discuss how the marketers can
motivate consumers to purchase their products/services.
Discuss the role of various consumer motives in this regard.

Discuss how the marketers can change negative attitude of
customers towards their products/services. Give at least three
live illustrations in this regard.

Discuss marketing implications of the concepts of the
following :

{a) Family Consumption Roles.

(b) Family Life-cycle.

Explain the prominent characteristics of Indian Culture to
Foreign marketer who is intending to enter India market. What
should be his modus-operandi after knowing such
characteristics ?

What barriers hamper “Diffusion of Innovation 7’ How can
such barriers be countered by marketers ? Discuss citing
suitable examples.

Discuss the role of Opinion leaders in shaping the thoughts of
customers. How can marketers use them to their advantage ?

4605/200/KD/1693 2

Roll NO. v,

Time : Three Hours]

Total Pages : 2

MDQ/(13-14/M-16 4605
CONSUMER BEHAVIOUR
Paper : MC-408
Group : Il

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 (40 marks) is

1L

compulsory. Attempt four more questions from the
remaining seven questions (10 marks each).

Compulsory Question

Write notes on the following :

(a) Evoked vs. Inept sets of consumer mind.

(b) VALS Framework.

(¢) Techniques for measuring Culture.

(d) Racial Subculture and its impact on Consumer behaviour.
(e} Adopter categories.

() Sociometric method of measuring Opinion leadership.

{g) Concept of Subliminal perception and its marketing
implications.

(h) Reference Group Appeals.
(i) Summary of Howard-Sheth model of Consumer buying.

(j) Significance of the study of Consumer behaviour for
marketers.

4605/200/KD/1693 {P.T.O.
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MDQ/(13-14)/M-16 4606

SALES MANAGEMENT
Paper : MC-409

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all. Question No. 1 consisting
ten short answer type questions is compulsory. Attempt
any four questions out of the remaining seven questions.

el Ur WS HU Wy "o 1 aAtErd @ T 10 iy
IWYFER F AT 21 WY 7 WA H W FE GW §vH

1. Compulsory Question ( 37fEd wyv)

Answer to following questions should not exceed half page.
Each question carries 4 marks :

(a}
(b)
(c)
(d}
(e)
(f)
(g)
(h)
(1)
§)

What is Sales ?

Distinguish between Personal selling and Advertising.
What is Sales forecasting 7

What is Missionary selling ?

What is Sales territory 7

What is Activity quota 7

What is Sales meeting ?

What is Recruitment ?

Discuss the need for motivating the Sales-force.

Discuss the importance of evaluating Sales-force
performance.

4606/200/KI)/1439/Trans. fP.T.O.



frforfas 994 & IW e U 9 sfuF | B TEE T
4 FF T T

(%) ot 7 27

(@) Fafsgs fawt o faare o s aemul

() faw sfasamh w7 22

() faed fagt @ 22

(%) famt &= @ 27

(=) fafafa w0 w0 2

() fasrl wfEn =m0 77

() ot = 72

() fagi-9a = AffE 1 7 EvgEm | =9 w1
(#) fawl-at frooEa & AFeq % Te™ & 99 Hi

Explain the meaning, objectives and functions of Sales
management.

fat waA # oY, YT SN wE W W wmf9w

What is Personal selling ? Discuss the process of personal
selling.

Safarsr o @ 27 Jafesy fawr =1 e w5 ==
i

What are the benefits of Sales forecasting ? Explain the various
non-quantitative methods of sales forecasting.

fazt afssmamht & 0 oy g2 famr wiasmEt F1 &t
T-wEEs Aty ) e

4606/200/KD/1439 2

Critically examine various types of Field sales organization
structure.

&5y faml g gi= % fafi= uod & adtemasE S
|

Explain the benefits of setting up a Sales territory. Also explain
the process of setting up a Sales territory.

O &3 wenfyg & F o 1 Twemeu fawl 7 wenfog
FE F UFET FT N FHIET

What are the benefits of training Sales-force ? Also explain
various methods that can be used for training Experienced
sales persons.

frFl-To WM F one Fm &2 39 fafw= fafai o=
Ty fae wAm sEaeE fawiwats & ufvem # fou
fFm w1 9Fd@ 2

Critically examine the various ethical issues involved in Sales
management.

frt wevA o fafed fafe= Sfew O =1 wdtaers o9
F

4606/200/KDD/1439 3
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MDQ/13-1M-16 - 4607
SERVICES MARKETING .
Paper : MC-410 . .-
{Group-II)
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 consisting of ten (10) short answer type
questions of four (4) marks each is compulsory. Attempt
any four {4) questions out of the remaining seven (7)
questions,

A WR FEwm | atEd ? e aw Wy oseia wee €
YEE W OR 3F &1 2 99 o v § 9 e e
3%%&@5 .

1. " Compulsory Question (-37fard wyw)
Answer the following questions in not more than half v.mmm :
(a) Define Service Marketing. .
(b) Name any three fastest growing services in India.
(c) What is Service mn_ooczﬁ_a ?
(d) What is Service Encounters Triad ?
(¢) 'What do you mean by Service Blueprint ?
(f) What are the steps involved in designing a Service
Blueprint ?
{g) - What do you mean by Service Quality ?
(h) Explain the wo methods of measuring Service Quality.
(i) Give meaning and types of Service Scapes.
(j) What is Service Marketing Triangle ? (10x4=40)

4607/150/KD/1510 - (P.T.O.
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Pt W W F T EE Y TR ¥ A

[.ﬂiﬁmﬂ%mﬂq@ﬁﬁm%_ _

fﬂvﬁﬁﬁgﬂmﬁ%ﬁ@ﬂmﬁﬂﬁﬂmﬂn
T

¢y G gEdE oA 87

() S gevE frdqw g 2

(&) ¥ Wiz ¥ S @ wHH B

(%) T A T F feeEs F A FH-FE F O
afwferd €7

(3) T TR § T T

Amv@ﬂﬁaﬁﬁﬂﬂ%&mﬁm&ﬂﬂjﬂ_

(=) Fa g w1 e SR wER ) |

(=) g1 fawue o ﬁ.%@wu.

Explain the 7 ‘P’s of Service Marketing mix. 10
¥ faum g $ 7 W = w1

Throw some light on Consumer Behaviour. What are the
factors determining Consumer Behaviour ? 10

TqET STEER T YIS ST SuNEET STEER F wHfed
w0 T fafe= w1 FaEal

Discuss in detail the Service Quality GAP Model. 10
1 A @ v few Y fawm SmEn Wil

4607/150/KD/1510 2

.?I

Q\:Fu:w m,\m:::m different u:Q:m ﬁ_.mﬁom#nm Umvmn_ on

ﬁaﬂ%mﬁﬂﬁﬂmﬂﬁﬂﬁﬁﬁ%w%s
%ﬂ%mﬂﬁm@m%ﬁ@mﬁ,

Do VR,E think that Employee Empowerment is the xww to the
success of Service employee ? Explain by outlining the pros
and cons of Employee Empowerment. 10
il QORI @ WA wEE # weeR RS €
A oTT AT A 7 FHAR ST @ e e
FIfl e gY s wi

Discuss the role of Technology in anwwm:m of service. Give

~ Consumer wCrﬂ:S: of value with suitable example. 10 N

guidelines for providing excellent customer Services. 107

e foaoe SRR w1 et 1 Ao HIRg) SR

o T AER TR F fag TEEEE A

Discuss various strategies that can be adopied for excellent
service delivery through intermediaries. 10

moreedl & W T G e & oyl R % A
fafr e =1 3R F

4607/150/KD/1510 3



(J) How can the organisation improve the efficiency of
Corporate governance?

gt o ® IR e

(%) SaE-vierl F EvIEd A e €7 orar-wharey
F1 i ® GEIE

(@) FRURE T Jos W T dfare Jie fafaw)

(M) WEA T TR W % faueH B ¥ e 8

(9) FRAE TE4T Ft 9997 o dfqd = aug s
71 §?

(¥) ¥ Tam § geetaw waend w82

(F) Y& FT P FNUNE T W TF 2 fafau

(@) T fadig Geenstt o FURe TE R-fait deened
T f= 82 §8y o gwEmu

(F) 3 s g9 7 ¥ 59 W RO e e
27

(7)) Fo & FFrfwm B gumEy

(3) WIST, FRINE T8 F} §7A H GUR FY T T
€7

Apparently every company targets conformance than
performance when it comes to Corporate governance.
Critically examine this in the context of the case.

& FAINE To49 F} 96 6 ¢ q T3F w5 wfer 9
W YRI R YA IAETA I R F B BG W ]
T T TS qENE Hie)

4611/250/KD/1555 2

Conflicts of interest are very difficult to remove altogether.
Can you suggest some processes and procedure to overcome
this problem?

fedl # =wwal = Pfaw QW A 950 Ffe #1 T AW
™ Toe § fom T # w5y ufEmell o fafimt @
gaE T g 22

Boards require information for all decision-making and
management has the control on this. How can boards ensure
that they get the right information at the right point in time?

fofa oF & fu 9 # gu #1 savesa B &
= & Temz 71 e T #1999 ghifvm W
T ¥ 5 3R T E W gE TEE fire S

If independence is a mindset, is it necessary for the regulator
to insist on having a separate category of the directors known
as independent directors? Explain giving rationale with
examples.

IR wWaaw T gAfaEd B a9 3o Fams 5, Rt
# TF guF 9vi R WA FRve S8 9 8, W SR
W =fen? WEiTE IS &) g 9EEEy

What all needs to be done to set the executive compensation
right and get the issue away from public attention and flak?

Hfeeret afogfd *1 St 9 7@ FH T W R H SHAO
F AN g FHE AT ¥ QT F A g we Ry 9 n
HI IEvaEd 27

4611/250/KD/1555 3 [P.T.O.



7. What is the role of good corporate governance in depository
system? What are the major steps to be taken towards effective
corporate governance in depository system?

feqfrzt YoM ¥ Tt FRURE T w1 F faE #2
feqfazt womeht § wuEl FREE TEAE & fAv FE-3
& F3W 3O IH Few?

8. "Corporate Social Responsibility and Corporate Governance
are inter-related.” Explain with taking suitable examples.

“HARE TERTE STRITE T FRUNE TEE TH-W
3 TR T " 9GS # FeEd ¥ qE

4611/250/KD/1555 4

Roll No. .......... e Total Pages : 4

MDQ/(13-14)/M-16 4611

CORPORATE GOVERNANCE
Paper : MC-414

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four questions out of
the remaining seven questions. Each question carries ten
marks.

Az ;. e | stEd B 9N A oweE A ¥ R =|w
o $ I AR TEE T 10 3F W 3

1. Compulsory Question ( 31fard wsd)

Attempt all parts : (10x4=40}

(a) Why are auditors required? Explain the role of auditors.

(b) Write a brief note on Corporate disclosure practices.

(c) What are the benefits of splitting the Chairman and CEO
positions?

(d) What are general criticisms on the current best practices
in Corporate governance?

(e) What are the contemporary issues in Banking industry?

(f) Write a note on Corporate governance in Mutual funds.

(g) Is Corporate governance in financial institutions different
from non-financial institutions? Explain in brief.

(h) What are the fundamental values on which Corporate
governance is built?

(i) Explain the Corporatization of agriculture.
4611/250/KD/1555/Trans. [P.T.O.



{(j)). How can the organisation improve the efficiency of
Corporate governance?

gt 9t * S Ffe

(F) TE-vlerhl 1 AEvTET & A 87 oRE- e
w1 i TR

(@) FANE FHAH gostf w F G H2 fafaw)

(M) WA TN IR W F AR H Fowy ¥

(9) FRUNZ TEH &1 F999 I3 Il ™ g sTeaand
Coil

(¥) 9FFm SEm ¥ Tefas geet w8

(F) YIS FE B FNURE &9 W & e fafau

(®) = fada geenedl § FuRe TEA TR-fadia weensi
¥ = ?? Wey ¥ wwEmm

(F) 3 3TIE g9 #0199 W FRANE e
27

(%) T F frefer = g9

(F) TS, FRURE TEHE 1 G0 § GUR DY T g
&

Apparently every company targets conformance than
performance when it comes to Corporate governance.
Critically examine this in the context of the case.

I FHARE THE FT TW AR ? A T w4
W WS HT TR FTET F AT T B DY B A
H THF AT E JeaiE Sty

4611/250/KD/1555 2

Conflicts of interest are very difficult to remove altogether.
Can you suggest some processes and procedure to overcome
this problem?

fedi ® ehqal ® qolaw U wE WEA FfEA 21 FW oM
™ T ¥ o uR S we wiEee ok fafua @
geE T g 82

Boards require information for all decision-making and
management has the control on this. How can boards ensure
that they get the right information at the right point in time?

fofla o9 & fau 9 = U &1 sEvIEa B 2 fow |
= f& w1 o g 9 9w 9 gifee =
TFe ¥ fr 3% o T w wE e fim Wy

If independence is a mindset, is it necessary for the regulator
to insist on having a separate category of the directors known
as independent directors? Explain giving rationale with
examples.

af TEaam UF ARfAea & 99 F= frames ), fRvet
F TH gE 9t R e fiee we W €, W SR
3 =fEw? yEiTE IR </ gU HHEEt

What all needs to be done to set the executive compensation
right and get the issue away from public attention and flak?

sftemt Wiyl #1 3% 9 7@ F 70 T9 YRR BT S
% 2IF 3 FI Mo 9 QW @A F fou wa e v 9w
1 AETEED 22

4611/250/KD/1555 3 [P.T.O.



8.  What do vou understand by Consultant-Client relationship in
Organization development process ? Highlight issues related
to this relationship and also discuss ethics for OD
professionals, 10

FEaes fae™ 9Fa ¥ FoEsR-uEs 99y ¥ 39 FJ4
THEA 2?7 T@ FAM ® T Il 1 SR IS qer .
g Ueay o AfFwast w1 ot == i

4613/200/KD/1601 4

Roll No. e, Total Pages : 4
MDQ/(13-14)/M-16 4613
ORGANIZATIONAL CHANGE AND INTERVENTION
STRATEGIES

Paper : MC-416
{Group-III)

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

dre ;. wme U WA % I AT we WEn | e R
1. Compulsory Question ( stfErd u9e)

Write brief answers of the following :
(a) Organizational transformation. 4
(b) Internal forcess for Change. 4

(¢) Meaning and significance of Interpersonal interventions.

(d) Customers focused Organizational change.
{e) Survey feedback.

(f) Role Analysis Technique,

(g) Organizational Development Values.

(h) Grid OD.

(iy Team-building. -

S T - T T S =

(j)  Structure base changes in organizations.

4613/200/K13/1601/Trans. [P.TO.
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(F) TEHF e

(@) 9Temd & TafeE T9

() siadefee e 1SRl 7 WEw|
() TEF HiEd G g

(%) gagm wfafea

() e fae T

(D) "o fowEm ol

(%) foz AE

(%) g-fAeron

(3) 974 ® WA s sEeE|
What do you mean by Planned change ? Explain Lewin's

model of planned change, and discuss its relevance in rapidly
changing business environment. 10

TrorEg TREE ¥ S F aeed 27 df & FeEes
ofimdq & Tied ® UERT a1 9e ¥ aged sAaaras
A H THe wRifteea i == i

Compare and contrast between Organization development and
Organization transformation. How are they similar and
dissimilar ? : 10
ST R Al e e Uit ¥ ge 9 9”
Ffew) 4 fh9 TE ¥ TAN F AR €7

4613/200/KD/1601 2

Discuss the meaning and significance of Strategic leaverages
to implementing structure based changes in modern
competitive business environment. 10

%@Eﬂ%&%n@ﬂmﬂﬁﬂ%m&m%%
ST o TR SaeE & ol ¥ TEe W T
It

Explain meaning, assumptions, values and beliefs underlying
OD process. Do you agree with the view that future of OD is
bright and exciting with special reference to Indian
organization ? 10

e BEE (E) uhEa § ofaffea wrrmed,
Aﬂqmﬁﬂﬁ_@.ﬂ%_%ﬁi P % fogry g8
¥ sy fr N 9 T gheEw ¥ wewd R ed W
ofysr IesaE qU1 SEEadHE 87

What do you mean by Process consultation ? Evaluate its
usefulness as an OD intervention. 10

o Ty A s @ o 87 wE AL (OD)
qeEd w1 ST ® AR W TEE JEE R

What is Team-building ? Discuss Intergroup team-building
intervention, and evaluate its relevance as an OD intervention
in modern organizations. 10

m-fmi = 27 siodge Im-frin wemEdR w1 oW
e qon oy |meAl ® 1% M (OD) TeEaT H
AR ® e Wi w1 qediha BT

4613/200/KD/1601 3 {P.T.O.
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MDQ/(13-14)/M-16 4614

STRATEGIC MANAGEMENT
Paper : MC-417
(Group-III)

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. First question of ten short
answers type questions is compulsory. Answer any four
questions out of the remaining seven questions carrying
10 marks each. _

He : wo o W HL W9 g 1 stEd ®, 3w 10 oy
IW YEE F WA T I WA I A W R aw wwe
F IM AN, TEE W 10 3w w2

1. Compulsory Question ( stfard 9 )

Answer to following question should not exceed half page :
(a) What is a Functional Strategy 7

(b) What is Vision ?

(¢) Differentiate between Goals and objectives.

(d) What is Environmental Scanning ?

(e) Whatis ETOP ?

(f) What is a Strategic ‘Alliance ?

(g) Mention the demerits of Diversification.

(h) What is a Cash Cow in BCG model ?

(i) What 1s Strategy implementation ?

(j) Mention the need for Strategic evaluation. (10x4=40)

4614/200/KD/1714/Trans. [P.T.O.



frafafas goif @ s osmt TS @ st A 7 ®
(F) FEES WHE FR?

(@) & 7= ¥

(M) =t i SEyE 97 &

(%) wEiEret @i 22

(F) AN F B2

(3) T e T #7

(3) fEfavis & W w1 Iee@ FW
(W) T FE Aem = 22

(3) THifE w2

(3) TFAfTw TeaET F1 oo Hi

What is Strategic Management ? Explain the steps involved
in Strategic management process. 10

Wi gevd w7 &2 TR Ty uRE o fafea o
Eafli:i e

Explain the importance of Internal Analysis of organisation.
Also explain the steps involved in the process of Internal
analysis. 10
e w ofafe favem ® wew # wemne it
favawor ®1 WiEa § fafed =on w1 off W)

Explain the meaning and features of Stability strategy. Why
do companies follow the stability strategy ? 10

oo worlifa ® ord SR O F wwmmw wutEl fer
T w OqeE w8

4614/200/KD/1714 2

Write a note on the merits and demerits of Vertical integration
strategy. 10

SR TR0 WA & 9 SR A W TE AR @)

What is Strategic choice ? Discuss the factors influencing
Strategic choice. 10

Wt Eg F ¥7 W TR w i S e
FREH W = F
Discuss the meaning and causes of Organisational change.

Also discuss the barriers to change. Suggest measures to
overcome resistance to change. 10

e e & o it Rl w wa i ufE
o wenstt #t o=t ) e & A | ow T #
I & g 2

What is the relevance of Strategic evaluation and control in

an organisation ? Who does strategic evaluation and control ?
10

et e ® TorifE e SR freEm #Y F:n wehTwm
22 wriifes gerwa ol feeo #R Fwm {2
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MDQ/M-16 4652
IT AND E-COMMERCE
Paper : MC—401
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions,in all. Question No. 1 is compulsory.

AT : HA G WA B IR AT T Fem 1ot ¥

1. (a)
(b)
(c)
(d)
(e)
()

What is E-marketing?

What are the various privacy issues in e-commerce?
What are the various types on online advertisements?
How Online fund transfer takes place using RTGS?
What do you mean by information brokerage?

Compare E-commerce with traditional commerce.
(6xd=24)

(%) 3w F 27

(@) d-=hd = fafws e g2 wn-wn ¥

(M) e =R % fafam wER wm-wm §2

(7) 3T & W @9 (RTGS) % ST 5N A %T

T F9 B 27

(¥) o1 SRS ¥ et w4 oref 27
(M) -FME F el wivd @ gom Ffeg
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(a) What do you mean by E-shops? Discuss various
competitive advantages using e-shops. 7

(b) Describe various business strategies in an electronic age.
7

(%) $-vf7 § e w1 g 27 I-viY WU W &
faf= wfaededt ol & == ®ifaw

(F) TF oriTE &@ § fafe= saEaas HEE &5
=R wifaul

(a) How can you classify new payment systems on the web?
Explain each in brief. 7

(b) Describe various legal issues related to e-commerce. 7

(F) o0 q8 W T WA TOME! Hl w9 FHd HO?
YF H TET § AR

(@) 3 | Ty fafa= s 938 1 e wifey

(a) Describe the role of data mining in e-commerce. 7

(b) What are the advantages and limitations of E-retailing?
Explain, 7

(%) 3-wimd § s i w gfEew 1 avl S
(@) i-fefin & @ g @O w2 T S
Discuss the concept of E-banking ? Why it has not been used

by everyone in India till date? Give reasons and suggest
appropriate solutions. 14

T4fET w1 urm W ==l Fifn) 9 ®, o9 # addg
7F 3 gt T T o ® €2 O 9ERt
A IYE WEEH @ goa e

4652/3,100/KD/1407 2

"World has become a small village due to e-commerce”.
Comment on this statement. Give reasons in support and
against if any. 14
“i i @ FRO fava wF o W o I T #17 .
wer W founlt Fifow so Twds qu fauyg d SR

TaRe (3 &)

(a) What is cloud computing? How cloud computing can be
useful for a business? Explain. 7

(b) Write short note on ERP. 7
(%) FALT FHRET 7 TR L7 F Fawa ¥ o wSs
Fofen I STt @ gEwd ¥ W FwRm

(@)% s d. (ERP) W dfyw A fafeu

Write short notes on

(a) Search engine optimization. 7
(b) Viral marketing. 7
frfafas w O - fafag .

(%) g9 o9 AEUEATHE|

(@) g Ak
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(7) WfEw fE=n %1 Sifgs aeEfs swelie f&fy
ol Fifewy

(V) umIfS are-em favemer @ 27

What do you mean by Project feasibility analysis ? Explain
the various contents of this analysis.

fgsr qreTe e § 39w geER &7 39 favemum
% fafi= o= &1 aviv =i

What do you mean by Demand forecasting ? Discuss the
uncertainties involved in it. Describe the various methods of
Demand forecasting.

T qEEE @ e F iy 87 e Em Al
Afifraaast ®1 =rEn HfTy A3 qagEe # fafeE 6
e HhIfSg)

What are the types of Working capital ? Explain the factors
determining requirement of working capital.

FEMe ISt feeR R ® B ?7 wEvia st w
FavTsal & fAuies a@ =1 3l S

What do you mean by Long-term requirements of finance ?
Explain briefly the main means of finance to meet them.

o #1 LT sTavaEmet = w7 ¥ T 9 ®
fon fom & Al +1 g9 § aolR FfE)

4654/1,400/KD/1453 2

What is the importance of Break-even analysis in profitablity
projection ? Explain the techniques used in this analysis.

Y SETE § gu-faee favevn w1 wn AEw 82 W
faveoor ¥ WM @R Al deeRl @ aue i)

Discuss the UNTDO approach to Social Cost-Benefit Analysis.
gt ArE-om favero wt gfel (UNIDO) fafu =t
= S|

(a) Explain Time-cost trade-off.

(b) Project implementation practices in India.

(37) THA-FE Wge &1 q0A RS
(%) 9Ra ® SREeE fFgreEs e & aviA i)

4654/1,400/KD/1453 3
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MDQ/M-16 4654
PROJECT PLANNING AND CONTROL
Paper : MC-403
Time : Three Hours] [Maximum Marks : 80

Note :

A

Attempt five questions in all. Question No. 1 is compulsory
carrying 4 marks each. Attempt any four questions from
the remaining questions carrying 14 marks each.

FE O W IR G W 1 9 R, TE
TF WA 4 % F1 2 99 9wl ¥ ¥ e um v
F IW AfFe, T&@F WA 14 &F = R

1. Compuisory Question ( f@T WgT)

(a)
(b)
(c)
(d)
(e)

®

What is Feasibility Report ?

Describe the process of Market survey.
Explain Fixed working capital.
Discuss Cash credit.

Explain Risk adjusted discounting rate method of
handling risk.

What is Social Cost-Benefit Analysis ?

(31) wrezar e a7 82
(9) 99R FEGw wREW % Sren Fao)
(|) fer wrfha dSt #1 avq i
(%) THZ 9@ FH U HIfAC
4654/1,400/KD/1453 [P.T.O.



(3) Iy fre=u ) Sfee gaEtmE swefe f&fy &=
U8 wifeg)

() TfTs arE-ony faeerer F=n @7

What do you mean by Project feasibility analysis ? Explain
the various contents of this analysis.

oREierT qregan favaser | o ¥ 9EEE £ 39 favemo
% fafi= a=f =1 avf +ifs

What do you mean by Demand forecasting ? Discuss the
uncertainties involved in it. Describe the various methods of
Demand forecasting.

HiT GEEAE W e T afawg 32 T g A
sfaframmedl #1 =men Hifww 1 @EimE w5 fakE )
=l HifSu

What are the types of Working capital ? Explain the factors
determining requirement of working capital.

Fithe ot e ToR # R #7 wrde S @
FEAEEA F uRE T w1 g wifeg)

What do you mean by Long-term requirements of finance ?
Explain briefly the main means of finance to meet them.

faa = el sTavawast @ a7 oef 7 T I &
fou fag @ oAl 1 de9 o oM Hifag)

4654/1,400/KD/1453 2

What is the importance of Break-even analysis in profitablity
projection ? Explain the techniques used in this analysis.

WY GaEel ¥ wu-frsa favewm w1 A TEE 82 ™
fovemo § WA FR GE aEAtE F1 auie FHiA

Discuss the UNIDO approach to Social Cost-Benefit Analysis.
wHIfas ara-e favemo Y gfel (UNIDo) fafu =i
e R

(a) Explain Time-cost trade-off.

(b) Project implementation practices in India.
() GHI-TE GIEH HT JUR HIfC)
(3) 98 ¥ i TR el & 9uiF wifs)

4654/1,400/KD/1453 3
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1. Compulsory Question ( 37F&Emd wys)

leseribe the following @

{a) Secondary Market.

{by GDOR.

{¢} Derivative Trading.

{dy Role of BSE.

{¢) Screen-based Trading.

{f) New Financial Instruments.
T ] BT FIET

{= w.mumwﬂmm Eiria

(@) et

(m) 2fEfe 2fem

(=) #TEE = i
(&) wEra-omafE ofEm
(=) w2 fadlg Fwwom
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o -
L i
1T R
ERRERSY d

Discuss the trading und settiement mechanism of the NSE.
14

TR (NSEy % 2fem mw e fpery w e

Eatsi

“The introduction of the depository system would take away
many of the ailments of the traditional system and wouid
ultimately contribute to the emergence of highly efficient
capital market.” Examine the statement.

Ueditsiedl frem w1 waw, WvRE faew w5t aga O
@il ® W AWM AN T wA: SRR mEd g

TR H R A AR w o wem W qeatse
Eas e

State the features of Options contract, and explain the modus

‘operandi of Share option and Currency option with suitable

iHustration. 723

ST ey % foermnd o aen der sfem o wg
HAfe T FE-OTR (WEw SwE) W e

4658/1,300/KD/1374 2

B Deecribe the vanous sory

siories {Indin Lid

T feegfdes fevifed

i WO

4658/1,300/KD/1374

ey Ta g v Tl
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MDQ/M-16 4659
SALES MANAGEMENT
Paper : MC-408
Time : Three Hours] [Maximum Marks : 80

Note : There will be Eight questions in all. First question
consisting of 6 short-questions having 4 marks is
compulsory. Answer to these questions should not exceed
150 words. The candidate can attempt any four questions
out of remaining seven questions. Each question carries
14 marks.

AT : YW T A we e WA € W gen | ofEd 2,
fogd B: oy 3uwly WA, T9F 4 A% w1 ¥ oW @
TEE H IW 150 vl § stfus F T s afrw 9w
e g # | A uw @ s A aew w14
% = R

1. Define the following terms :
(a} Sales management.
(b) Sales forecasting.
(c) Sales budgeting.
(d) Sales meetings.
(¢) Termritory and quota.

() Routing.
4659/2,400/KD/1689/Trans. [P.T.O.



frefafas v &1 aftamw serEv -
(F) farg gouq)

(@) fawa qarar

(M) fawa wifem

() forpa 3%

(F) & T TR

() wfem (emgmria)

Explain the concept and classifications of sales job.

fasra w1 F YROT T FHOT H GHABTI

Elaborate various theories of selling.

o = = fafi= fagidl 1 sren st

What are the purposes, principles and process of setting up a
sales organization ? Explain.

% o e & SRwe, fagi| qu o W &
i w7 ¥ T Fifew

Write down the need and procedure for determining the sales
territories and quota for sales personnel.

faFg wifal & fo fawa & 9o 1 1 SEvEEa 7
™ fuife @ = vfFa = fSfaw

4659/2,400/KDD)/1689 2

Discuss the recruitment and selection process of sales force.

fawa @l F wdt qw @I FOAERD W TE wIw)
Describe the process of evaluation of sales-force performance.
fora wal & FE-fwRA & qeAiRs F iR W SR
EAIE L

Note down the ethical issues in sales management.

foa yaum o S g w1 fafau

4659/2,400/KD/1689 3
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MDQ/M-16 4660

SERVICES MARKETING
Paper : MC-409
(Group—II)

Time : Three Hours] [Maximum Marks : 80

Note : Question No. | is compulsory and is of 24 marks. Answer
should not exceed 150 words. Attempt any four questions
from Question No. 2 to 8. Each question is of 14 marks.

ME . uvd g 1 e ® 3K 24 @ w1 I 150 TRy
4 atfue =1 TE B wfEw weR gem 2-8 § fe=l
IR T F I T TS WA 14 IFFT HT B

Compulsory Question ( 37~@Em™ w9v)
1. Explain the following :

(a) Definition of services.
(b) Service dimensions.
(c) Service blue priniting.
(d) Role of contact person.
(e) Service encounter.

{f) Ethics in services.
= #: T w e

(%) 9 = & ftam
(@) 9a 1 fqEr

() e =1 e TR
4660/2,200/K1D3/1491 /Trans. [P.T.O.



() Tl = w1 gfa
(F) 91 § IO S
(F) ga1 o Hify)

Write a detailed note on nature and scope of service sector in
Indian economy.

IR Hd-wEen @ Yer &F H ITH WHA @ IES
foem % W&y § s fawge e foE

Discuss in detail any one model of service quality with
example. How this model can be made effective ?

frddl ww a1 o ® died o SR % Wy fer g
== #i| ¥% Hew 9 YER SRR R W G 2

‘STP (Segmentation, Targeting, Positioning)’ is very difficult
for service sector.” Communt on statement with exampies.

‘"ar &7 H STP (TEFm, weg, Wi|) qoid: wfaa
T HYF T ITE & W frogudy a

Evaluate the role of physical environment for service
marketing.

Taei w fawr wen o it w@E w1 giFE W
T &

What are the best approaches for pricing of services ? Also
discuss effective service delivery.

Yarsd F1 e Fuifa w0 ® A w0 W 9w 7 27
FEER g T % fawg o of ==t w1

4660/2,200/KD/149] 2

Evaluate the importance and role of service personnel in
present context,

T FHEEARI H HEA TS I e w1 ToAH B
= ° e 1l

Write short notes on any two of following :

(a2) Enhancing customer participation.

(b} Customer protection.

() Role of customer feedback.

= F @ el & ™ ogaw AR e
(F) MEF HT IR F gig)

(@) UEF F1 F=rE|

(7) UEsh AHAY HT i

1660/2,200/KD/1491 3
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mMpeM-1s . 4661
SUPPLY CHAIN MANAGEMENT .
wmwmﬂ MC-410G .
( Q.oEEm?m }

Time : Three Hours] (Maximum Marks : 80

Note : There are Emrm questions in all. The first question is
- compulsory and consists of six (6} short m:w..éan type
questions having four (4) marks each. Answer to these
questions should not exceed 150 words. The candidate is
required to attempt any four ﬁcmmmoi out of remaining
seven (7) questions and each a:nﬁmom carries fourteen (i4)

marks each.

HE ﬂmmﬂmﬁﬁw_nﬁﬁ@f&mﬁw,%@ &g
3T WA, ngaﬁﬂﬂw“ﬁﬁﬂﬁﬁﬁmﬁ

150 =2 9wt R O wfew Ve w8 W feed
TR T & IW AU T T 14 5% H B

1. Compulsory Question ( 21frard wyr)
Short Answer Type Questions :

(a) Explain in brief the different dimmensions of nwonmnﬁ
quality.

{s) ,.S:m a brief note on various omﬁomozom of :‘mﬁﬁonmzom
cost.

(c) What are different components and application of ERP?

4661/400/KI/1553 Trans. o iPT.O



466!

rdj What are 9909.9: service @mzoﬁ; a Ewﬂorocmo can
mJﬂ:/ nﬁwﬂ

tey What is role of marketing channels”?

‘11 Discuss the ormaa:mnm relaled to Inw cost sourcing.

(dxd=16)

(F) IO T # s aEe w ghw ¥ geensy
() i R H RS ST W whe e i
(M) 3.3 (ERP) # fafes wzw du sqwam &1 2
(F) TF T R wE-Q ffeE e ast wwem w= owwa
(F) TR A BT R s €7 |
(=) Fet o WY Y wR R w o @

o

Explain the process of .achieving the supply chain
synchronisation between marketing channels and retailing.

n@@n%&mﬁ%%%%m@%mﬂﬁ%%
TE & H AR YR

Does Information technology influences logistic decisions?
Explain.

T g9 dw, Wi frokd = wafa w5 22 wmeEn

+.xplain in detail the different components and application of
T and quality management.

SHRA (JIT) T aFm vEuR & fafam e ey
ATHER & e |
AO0/KIN 1553

2

4661/400/KD/1

_Explain in detail the i vels of functionality of customiei ~ervice

strategy and E.E.,:om

UEE T AT 99 AE ® FEEE % el %) e

TREAET

Write in detail abou: the transportation consideration in
selecting the right mode.

ﬁ%ﬂﬂﬁﬂﬂﬁﬂ@m%mﬁﬂ%%%ﬁg

& guEmET

Explain the factors to be considered for making supply chain

as value delivery system.

A sfEen & U Yed fHeo yomelt F1 oae fufo @
FH F YA -

Explain the factors to be considered in designing an integrated
marketing channels for SCM.

Aﬁ%ﬂaozv%@mmﬁ%%ﬂ%ﬁ.
fesm #03 ¥ o 2 A eI 1 WHEE

T
tn
(o8]

o
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MDQ/M-16 4663

RURAL MARKETING
Paper : MC-412
(Group-II)

Time : Three Hours] [Maximum Marks : 80

Note :

There are eight questions in all. Question number 1 is
compulsory consisting of 06 short questions carrying 04
marks each. Answer to these questions should not exceed
150 words. Out of remaining 7 questions, candidates are
required to attempt any four questions. These questions
carry 14 marks each.

TH U W R/A 8 Y B W T | afEd 2 eow
4 FF T B: T & T WA F IW 150 TR H 3
RaE F 7 99H § 9§ F1F 9% 9T HY W F 14
Hh 2l

1. Explain the following :

(a)
(b)
(©)
(d)
{e)
(f)

Rural Marketing.

New product development for rural markets.
Cooperatives and their formats,

Personal selling rural markets.

Marketing of agricultural commodities,

Characteristics of rural markets.

Fefafas #1 7= Fifaw .
(%) v fagom

4663/600/KD/1497/Trans. [P.T.O.



(@) T I fawrg o A e
() Fiofesy iR IR wiHel

() A=t fasmt omfion fagor

(T) FH & ®m I At wwged w1 faguEl
(%) WY FER ® T

Design the promotional mix for bio fertilizers for rural markets.

T AR @ T 99w ® fon fhfsm wm s feemEA
HifTl

How do you assess the potential of rural market in India?

9 § oMY HY T AR H GEA FT e FLTHA
&

Explain .the problems with respect to agricultural marketing
in India despite being the huge producer of many crops.

% T F TR TR TH TS IARE B ©9 § IR H
Ffy famom & gad § o Al wentE w1 e S

How distribution and logistical facilities can uplift the face
of Indian agriculture?

I Fi S W Y T o wifafes g am
I@ gHA €7

How do you see the importance of research for tapping Indian
rural market?

4663/600/KD/1497 2

Tl T SR F e § on ® fAu o fad ®
ﬂﬂ_ﬂ@dﬂﬂz@m@»ww

Do you see the difference in marketing strategies for durable
and non-durable items especially for rural markets?

ooty =9 § T IR § g iR sremd wRge #1 few!
% dr= fFr 9 T R W o e YR @ 4| T
¥

Write a detailed note on marketing mix planning for rural
markets.

Tty SR % o fafye 9o ) fasge faEw s

4663/600/KD/1497 3
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MDQ/M-16 4668

ORGANISATIONAL CHANGE AND
INTERVENTION STRATEGY
Paper : MC-417

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and carries 24 marks.
Attempt any four questions out of remaining 7 questions
and each carries 14 marks.

qe : YW gEn | afEr ¥ aon 97 24 @ ® ¥ v T
W A § R aR w3 df TeEw w9 14
HE F:1 R

1. Write short notes on the following :
frerfafes w diva Aie fafex .
(a) Survey feedback.

wder  wiTEF)

(b) Strategy change management to Group.
g ® fou wrifss s e

(¢) Change Agent.
TEE & TS

(d) Economic Factors and Individual Resistance.

Tffw =R aw =fE gfEw)

4668/600/KD/1796/Trans. [PT.O.



{e) Structured based changes.
AT AU S|
() Values of OD.
s g (OD) & TSI

What do you mean by planned Organizational changes ?
Give reasons for organizational change.

ASEE TSTHF T8 9 9 R ¢ 7 2GS
TqIAE F FRI AR

What is Action research 7 What are the steps involved in
research action.

fvar vy @ 2 e ww O fafes = wn-wn € 2

Difference between the external forces and internal forces
that induce change in the organisation.

He4 § 9eod AT 9Te 99 3iafis amdl & arg AW
ERiE

What is the role of Grid as technique of OD ? Describe its
various phases.

3 2 (OD) M TFF F IR W g w1 ww fwm 2 2
oy fafa= g &1 vl =it

Discuss the nature of OD. What are the assumptions of
0D ?
3 B (OD) # wHfa | T= Fifew N E (OD) H A

grod & 2

4668/600/KD/1796 2

Discuss past trends and future challenges of OD in India.

9 § A € (OD) #! fava wgfedt qen aEh g w
= Fifagl

What is proactive change 7 Explain transformational planning
as a technique of managing change in an organization.

aEfFET a8od | % 7 UH IS § T Qe oY
TEEE F GG A F TH THAE B GR T GHIET

4668/600/KD/1796 3
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MDQ/M-16 4669
STRATEGIC MANAGEMENT
Paper : MC-418
(Group-III)

Time : Three Hours] [Maximum Marks : 80

Note :

The question paper consists of eight questions in all.
Question number 1 is compulsory and consist of six short
answer questions of 40 marks. Attempt any four questions
from remaining seven questions and each question carries
10 marks.

Y ¥ H A S WA ¥ W wem | s 2
food »: oy v WeR 40 SF F ¥ I w weA
H B sl 9 W ® 3W A TEGE W 10 56
calk |

1. Compulsory Question ( 27fard wg=)

Attempt the following short answer questions carrying four

marks each :

(a) What do you mean by strategy?

(b) What are the benefits of strategic management?
(c} Discuss in detail strategic vision.

(d) Why company prefers for merger?

(e) Write note on BCG Matrix.

(f) Discuss in detail issues in strategy implementation.

4669/900/KD/1552/Trans. [P.T.O.



frefafen w=wim vt & S A v W 4 o
F R

(%) e @ amuent T o ®2

(@) OHifaE T # F oaw &

(M) vt 3 =t famga == e

(W) FT T W oF ghga 22

(F) N e = = T2 fofam

() T frarae § wenel 3t frge == @R

What do you mean by strategy? Describe the relationship of
company's strategy and its business model. Assess the business
model of any company.

wiAfs | sToR T oY R TN #) wrif T Tow

FEEaE Aise & e wEy @ saew wifwu R
FH ® AEHIF Aed T GeAFT B

Distinguish between mission, vision and objectives. Explain
the importance of these components in any organization.

e, fasm den 3g2vdi # 9 oI wamw Bt wmew o
T OYEH & WEW Hl TEEEU

Define conglomeration. What has been the international
experience in conglomerate diversification? How can risk of
diversification be reduced? What guidelines should be borne
in mind while pursuing the path of conglomerate
diversification?

et i aftm SR Fyfew fafafur § siwidy
T F0 &7 fafafieto & Sifgn ® F$8 w9 few oW
ToHEA 27 "o fafafrsor # 9w w dfee w@
%ﬂmﬂﬂﬁw_ﬁwﬂ@gﬂ%u

4669/900/KD/1552

Are the company's prices and costs competing with those of
key rivals and does it have an appealing customer value
proposition?

T R P YA T A FAeeqY gl ¥ whieg
T 9 T TE MEE H oG T A goaem yea
27

Explain the relationship between corporate governance and
social responsibility.

FRANE TR qo GEIE IOEITGE & d gay @
HAART|

In what ways can a corporation's structure and culture be
internal strength or weakness? How do you view the Indian
scenario in terms of opportunities and risks?

TF A F OWET q gl fF owee o swe
iaftw i o qeern oA Whdt €7 I aun SifEw ®
e # Wi ofgys ® oy #9 2w #?

Discuss the applications and limitations of generic strategies
and strategic groups. Discuss the relationship between business
and functional strategies.

W IO qen T wEEl ® STwA qen e
# =9 HIfaQ FEEfaE T wEEN OEtE § d
gay & == Fifu

4669/900/KD/1552 3



Roll No. ..vivvcivrnninn, Total Pages : 3

MDE/M-16 10700

INTERNATIONAL BUSINESS ENVIRONEMENT

Paper : MCIT-202

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

AT : FA dtw T IW Y TR Tem | afEd R

1. Compulsory Question ( @A wy)

Answer the following in brief :

(a)
(b)

©
)
(e)

0
(g
(h)
(03]
@

What is International Business ? 4
Why is it important to study Geographical environment ?

4
What is the influence of Sub-culture ? 4
Define Political stability. 4
Differentiate between Multinational Corporations and
International Corporations. 4
What is internalized type of Technology transfer ? 4
Why was GATT replaced by WTO ? 4
What is Special Drawing Rights (SDRs) ? 4
What are the principles of ASEAN ? 4
Discuss the nature of Foreign exchange markets. 4

frafafan v & e sw S -

(F) ST =R T 82

(@) Hrifa® SwaERy w1 weEs w= ey 87
10700/50/KD/601/Trans. [PT.O.



(M) T9-GERfA F F 99E 934 87

(%) THAfaer aifRs ® SRt S

(T AEEE Tl g st e e W de o A
(%) AEANE WPR W aEAE] Tl o B

(T) W (GATT) & T 2Ll (WTO) 7 =i
fFm 2

(%) fasm ameo sfywl (SDR) @1 €7

(=) MM (ASEAN) & #71 g 7

(7) foseh fafvma aom #1 vl =1 == ®ifam

"There is a huge scope in International Business.” Elucidate.
10

‘i wEmR | AR HwEAd g1 faaem =i

"It is difficult to enter in Foreign market without understanding
political and legal environment.” Explain. 10

H Tt de FA AEERY F Ay o, falv aem d
WA HwA HeT T aHEEy)

Why there is a need of Foreign investment 7 What steps are
being taken by Govt. of India to attract Foreign investment
recently ? 10

Rt fee F1 snavawmal F Bd 27 e o, el fEm
T WG+ ® fau 9Rg SR TN F F39 39 Y
&2

10700/50/KD/601 2

Discuss in detail the impact of WTO on Indian economy.
10

YIAG 1fEaE T AL (WTO) & W9E &1 fawa
Ecii:ais

"EU is the most successful regional economic cooperation.”
Discuss. Also discuss different institutions which made
EU a success. 10

‘ot e (EU) waifas T oo |1 21w
Fifow 35 fafi= geuml =7 o == Fifvw 599 gude
IR TwE F41)

What is International Commodity Agreement ? Why
OPEC is the most successful International commodity
agreement ? 10

FULg HATES THAM F ®? UF (OPEC) Waifuw
TFa ety FEfed FHga Fa 2?

What is Exchange rate ? How are exchange rates arranged
in India ? 10
fafmma 0 7 27 W o fafa < w6 sgen &9 F

e 27

10700/50/KD/601 3



TF W FE A A # o ww w® = v w0
100 &S Ten 120 Wil § @y dg=ed fau Moo
F O FH W T THIT F IR A I foud W
fr=fafes o o= ga

T8y foaow | sERftA | @ @@
T 25 40 35 100
Hfeen 35 55 30 120
A I 60 95 65 220

Write short notes on the following :
frfafes w dfea e fafen .
(a) Point and Interval estimation.
g dun I ReH|
(b) Measurement and Scaling Technique.

T 9 9T deHlh | 10

Describe the considerations and steps involved in planning
Report writing work. 10

ol oreq &1 &1 99 s wnfae Ayt 9o s
T T R

10701/50/KD/602 4

Roll No. . Total Pages : 4
MDE/M-16 10701
RESEARCH METHODOLOGY AND STATISTICAL
ANALYSIS

Paper : MCIT-203

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 1s compulsory.

Attempt any four questions from the remaining questions.

: He uie WAl & I ANy WA wew | sifed §1 9
v o ¥ fe = we % s it

Compulsory Question { 3@ w9A)
Attempt all the parts within half page :
frfafer v 9m &1 3w e g H e
(i} What is Research problem ?
vy wgem @ ® 2
(i) Explain the meaning of Sampling design.
T afimer & od & wHERE
(i) Distinguish between Simple and Composite hypothests.

WA TN WIF UREEH ® Y AR TRy

(iv) Distinguish between Estimate and Estimator.

AR TN FFAE B a9 W wAR

10701/50/KD/602/Trans. [P.T.O.



(v) When do we use t-test ?
7q (e H ST F B ¢ 7
(vi) What are Non-parametric tests 7
st whewr w7
(vii) List the conditions of Chi-square test.
Fhoo Tham T W g
(viii) Point out the limitations of Sign test.
fome a1 S w1 @ FA
(ix) What are the uses of Non-parameter tests ?
s Themt ® s swm § 2
(x) Explain the meaning of Research report.

Ty fod & @1 = "W (10x4=40)

2. (a) What are the factors to be considered while selecting
a research problem 7

ﬁ%mﬁﬂﬁﬂuﬂwﬁﬂgﬂz&ﬂ
| T WA €7

(b} How is an arbitrary scale constructed ? 10

wF wfess T F wEm FY F A€ 2

3. Define 'Data’. What are the different types of data ? Explain
them with examples. 10

“ﬁﬂ@,ﬂ%%_wﬂﬂﬂﬂz%mﬂ&ﬁmw
3% TEEON R SRR

10701/50/KD/602 2

4. Can the following two samples be regarded as coming from

the same normal population : 10

T frefafEd @ A w GAA TER WEE 9 S
T WA W W@ E

Sample| Size |Sample mean| Sum of squares of

deviations from mean

(g | (sER) | (G W) (men 9 faga

F g 1 A
I 10 12 120
i 12 15 314

5. Differentiate between Parametric and Non-parametric tests.
Thus, highlight the advantages and limitations of Non-
parametric tests. 10

Srafess qon sTarEfers ThEn @ e I FAEY U1 T
TFR AyrEfaE et ® e 9 HEel ® IR R

6. An Insurance company has introduced a new scheme for
employees. Independent random samples of 100 males and
120 females when examined to know their views about the
new scheme, yielded the following results :

For Against Indifferent Total
Male 25 40 35 100
Female | 35 55 30 120
Total 60 95 65 220

Test the hypothesis at a= 0.01 that the two samples have
come from a homogenous population. 10

10701/50/KD/602 3 [PT.O.



2.  What is Online Marketing? Discuss the reasons behind the
growth of Online Marketing in India.

3. Define Marketing Information System? How MIS support
marketing managers in making Marketing Moves?

4. Define Positioning. Discuss the Positioning Strategies in
Online Marketing.

5. What are the objectives and process of pricing in online
marketing?

6. Define E-Advertising. Discuss the merits and demerits of
E-Advertising.

7. Why Marketing Control is required? Explain various
technigques of Marketing Control.

8.  Discuss the key point to be kept in mind while selecting media
for Online Marketing.

10702/50/KD/587 2

Roll No. ................ I Total Pages : 2

MDE/M-16 10702

ONLINE MARKETING
Paper : MCIT-204

Time : Three Hours] [Maximum Marks : 80

Note : The first question is compulsory and consists of 10 short
questions (each of 4 marks) and their answer should limit
to half page. The candidate will be required to attempt any

Jfour other questions (each of 10 marks) out of remaining
seven questions.

Compulsory Question
1. (a) What is the role of Online Marketing in increasing the
Sales?
(b} What is B2C marketing?
(c) What are the main Decision areas in E-Advertising?
(d) What are the bases of Segmentation in Online Marketing?

(e) Differentiate between Online Marketing and Direct
Marketing.

(f) How Chartrooms and Email helps in promoting a
product?

(g) What is E-Branding?
(h} What do you mean by Business Model?
(1) How Internet Influences the Market Planning?

()  Discuss the various tools of Online Promotion.

10702/50/KD/587 [P.T.O.



Roll No. .o Total Pages : 3

MDE/M-16 10703
E-COMMERCE AND WEB-DESIGNING
Paper : MCIT-205
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question. No. 1 is
compulsory.

M : H@ U T B IW AT T wew 1 afEd

1. Compulsory Question ( 21 ard uyT)
Answer all the following :
(a) Discuss Customer-to-Customer model.
(b} What is Closed or Open security in Smart card ?
(c) What is Corporate purchasing ?
(d) Discuss Disaster recovery.
(¢) What is Customer-to-Merchant payment ?
(f) What are the problems in adopting E-commerce.
(g) What is News-group ?

(h) What is Search engine ? Discuss its use in E-commerce
applications.

(1) Name any four E-commerce applications.
(J) What is Business record maintenance ? (4%10=40)

(F) TEH-9-TEF Hea F1 9= Q)

(@) TR #2 | FvT W A fuagfd = 22
() FRANe wl] w= R

(%) TRy WETe W TH i

10703/50/KD/1923/Trans. [P.T.O.



(T) TRF-9-ANN TR ¥ 82

(F) 3w N I § o wmend ¥

(3) gu-q9 7 ¥?

(%) w4 399 | 7 aed ¥7 d-Fmd uehdv A Tme
Y F T Fifea)

() 5w i-ohd TeieTE % 99 9aRu

() =aEE fEE @-mE 7 2

Explain the advantages of E-commerce over traditional
commerce. 10

TR =R &1 39 E-wimd % A # IHERu

Define Electronic Payment Systems. Emphasize Prepaid and
Postpaid systems. 10

W g e 1 aftaw s fie gu 9neue
foegf w SR S

Discuss Value-chain integration and Supply-chain
management. 10

Ted- §EN THIHMW qe Mg SEen yEyw w9«
Hiteg|

Explain security threats in Online payment. 10
A A 9 g gt Tl w5 qEEs

Explain E-commerce Legal issues and Cyber laws. 10
-Flod & FTE AKE AW GRS KA H THARC
Explain Management issues related to servers. 10

TR 4§ dafug gEve IR F e

10703/50/KD/1923 2

8.

Write notes on the following :

(a) Classification of E-commerce.

(b) Future of E-commerce.
frafafas w e fafgu :
(%) 3-whad F1 o

(@) 3-%my =1 "fas)

10703/50/KD/1923 3
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Roll No. ..o Total Pages : 3

MDQ/M-16 10704

BUSINESS ETHICS AND SOCIAL RESPONSIBILITY
Paper : MCIT-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
AT : Jo Ui WA F IW G v wew | aFEd §

1. Compulsory Question ( 3@ o)

Answer the following in brief :

(i} 'What are the principles of Ethics ? 4
(i) What is the relationship between Ethics and Law ? 4
(iii) What is the role of Religion in Ethics ? 4
(iv) Define Corporate culture. 4
(v) What is Sustainable development ? 4
(vi) What is the role of Judiciary in Ethics ? 4

(vii) What is the importance of Social responsibility 7 4
(viii) "Prime concern of CSR is to take care of stakeholder."

Flucidate. 4
(ix) Discuss the fundamentals of CSR. 4
(x) Explain Gandhian Trusteeship principle. 4

frafafes o & wfiw 3w e .
(%) 3mER Hifa $ ¥ fagia &2
(@) MR Hifd 9 FF F = oW gEy B2

10704/50/KD/603 Trans. [PTO.



(M) R g F o ) own fiv 2

() #RAe Tepfy = ofivfia sifa

(%) Tt fawm T &7

(7) =R At § = yoreht w g 22

(3) Tolas TTR@EE 1 71 72w

(¥) "WMUHA (CSR) #t g faar feauma =1 =&
e 1" fad=m Fifm

(F) MR (CSR) & Forg w1 ==t vy

() e =i & fagia # gwemEy

Define Ethics. What are the stages of moral and ethical
development ? 10

AR Hifa F ofenfee wifse Yfwa g0 smEr HFg
T Ty F?

What is Ethical dilemma ? Also discuss the causes and
resolution of Ethical dilemma. 10

MR AEHATN F T2 EW STOHSEd & FWON T
e & T #fm

"In today's business scenario, business ethics are getting
globalised.” Elucidate. 10

‘e e oRgvs § St seR S
B W W@ R fada #ifm

10704/50/KD/603 2

What do you mean by Sustainable development ? Why is it
emphasised ? Discuss the role of Business ethics in
Sustainable development. 10

Tt fawm @ suw W o 27 9w SRk = R s
ww%mﬂamﬂ%ﬂﬁﬂmﬁaﬂm@ﬁ%&
== wifsm

Discuss in detail the social responsibility of business towards
various stakeholders. 10

HaaE % fafim aRnl @ vy oy soafse 5
foega ==t Fifsw)

"Like any other thing CSR is both pros and cons for
business.” Elaborate the stetement. 10

&l o= 7w e Srhasm (CSR) =qa@™ & fom
ey T favy 2 2" W wwa e #if

"Nowadays CSR has become the buzzword and is being
used as corporate strategy.” Elucidate. 10

YN ® T d WUESR (CSR) §EH @ T ¥ A
W FRdE TR ® 4w swEm fE e $1 fae

Hifem)

10704/50/KD/603 3



Roll No. v, Total Pages : 3

MCQ/M-16 10705

PROJECT PLANNING AND CONTROL
Paper : MCIT-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Ae : FW U T ® W A v G 1 afeE ®)

1. Compulsory Question ( 3iHaTd wyd)
Attempt all the following parts in brief :

fafafem gt wmi & ofea s Sfsw .

{a)

(b)

(c)

(d)

(e)

6y

Discuss the sources to identify Investment opportunities.
fraw s ® e ® 9| # w= s
What is Project Planning ?

e faem w=m # 2

State Secondary sources of Information.

o % fodfos 99 &1 = awy)

Explain Delphi Technique.

IR TFAE H THAHET

Describe Product Mix.

3Iar fagm F =rEm wifu

Explain Capital Structure.

TSt WA R OEHERQ

10705/50/KD/604/Trans. [P.T.0.



(g) What is Projected Balance-sheet ?
vafd qER-T F § 2
(h) Explain NPV method of Investment appraisal.
fraw gegie & wRE (NpV) fafa =1 awemw
(i) Discuss the significance of Social Cost Benefit Analysis.
TS @ e e % W Wy = S
(j) What is Time and Cost over-run ? {10x4=40)

A9 du N e F ® 7

What is Project Analysis 7 How Project Analysis is carried
out ? What factors are considered in Project Analysis ? 10

ofger favemm @ &7 ufEem favemw &9 fFa
o T2 ufeeEn favewm ¥ R eRe W e W
ST ® 7

What is Market Planning ? State its significance. What factors
are worth considering in Market Planning 7 10
FER A T R 7 THE e dARU) SR e §
FR-¥ FE AW W A F 2

Discuss the significance of carrying out financial analysis
of Project. Explain the financing scheme of Financial
Institutions. 10

ufeeT = fad favewo fee 9@ & wew # =
Ffy fadm a9 famamy Femet F S

10705/50/KD/604 2

5. Describe the major Cost components of the Project. How
Cost of production is determined ? 10
T B T O AT H AUN M SERA B
o w9 feifE B owm 22

6. Explain the various methods used to account for risks and
uncertainty in Investment decisions. 10
v frofal § <ifgw qw sfafteem & smeem & T
T #t wW g fate= fafed e wuemEe

7. How projects are evaluated in India ? Discuss the project
implementation practices in India. 10
g W UES # qeEA $9 A W 8?2 9
¥ ufeem feareat & dR-Tel ® oFE S

8. Describe in detail the Project appraisal process adopted by
Financial Institutions in India. 10
grE o foeta HeaRl g ofEee omed & fau o
WA At g w1 guR S

10705/50/KD/604 3
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MDQ/M-16 10706

SALES MANAGEMENT
Paper : MCIT-403

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 consisting of ten (10) short-questions having
four (4) marks each is compulsory. Attempt any four (4)
questions out of the remaining seven questions carrying
ten (10) marks each.

e : v e | At 2, faod < oy 39w ¥ ek
YAF 4 F W 2 U9 T T ¥ 9 el um ue #
IW T, vl 999 =9 (10) FF &1 2

1. Compulsory Question ( 3tfamd weT)

Answer to the following should not exceed half page :

(a)
(b)
(c)
(d)
(e)
0
(g)

(h)
&y
G

Distinguish between Marketing and Selling.

Define Inside order taker.

What is Right Set of Circumstances' theory of Selling ?
What is a 'Sales Territory' ?

What is Off-the-job training ?

What is 'Bonus' ?

What are the challenges in evaluating Salesforce
performance ?

What is Sales meeting ?

Delphi method of Sales forecasting.

What are the benefits of Personal selling ?(10x4=40)

10706/50/KD/605/Trans. [PT.O.



frafafeaa g 999 F1 3T 919 7= 9 Hifga T4 9y,
(%) farm e fawm = F9 oW TaEu

(@) ‘erafr e wEwEa’ w1 i wifem

(M fawa w1 fogim ofifatrE W owE ogE woRr
(M) ‘faswa &7 0 77

() AF-T-4 T F1 27

() ‘AFE FW E?

(D) faFa <@ % WYH & oI B o Al 87
() fowg difén =01 2

(%) fowa gaiqam o #1 ot fafy =1 27

(¥) =Afgrm TF7 = 31 @¥ 2

What is Sales Management ? Explain its objectives and

functions. 10

fawa TEYA T 27 TS TeYAl dw FA F GO9I

Explain Personal selling process. 10

=g fawa wfEwa w1 gums)

Explain the meaning and process of Sales Planning. 10

famg s & 3 dwn fsea =1 T9=Ew

10706/50/KD/605 2

~

What is Sales organisation 7
of Field sales organisation. Which form is suitable for o
company selling different tvpes of household durable
appliances 7 H
HEa TR F %7 A fawm dved # fafem o= oW
U TF HOAT W A TR R TRl % fare
Jdgu.mmn ?ﬂﬂﬂmﬂﬂﬂ._indﬁmﬂg\

Explain the various forms

What is Sales Quota ? Critically examine various types
of Sales quotas. 10
fag = A T 70 fafvs v % A wE E
THieTeHe: gedia It

Critically examine various methods of traning sales force.
Also discuss the difficulties faced by trainers while dealing
with high performing sales-persons. 10

faga-=o =1 wifam = =1 fafy= faftal =1 wderers
TAIFA Fifom| =9 YEvH FH @ fawa-wiga 9 uw
A 999 WEET T WA F WE 9l Fweana w1 R
== FIfem|

Critically examine the various Ethical issues involved in
Sales management. Also suggest measures to deal with
those issues. 10

forg wev § wifte fofis R qgel & e
TF A 3 58§ o & 3 & fow ggme o
Fifsml

10706/50/KD/605 3



7. What are the major reasons for standardising an international
advertising programme ?

TF AT TR FEFT F AFRIFT B T FRO0
T B2

8. How does competition in the foreign market effect
your global pricing decisions ? What steps can be taken to
counter it ? :

it aoR § vfoedt frw T @ oe s T
Fryftor frofal =t yefag st 22 3oem 9 w0 fog
FH-¥ FI9 ITIAT T GHFY &2

10707/50/KD/606 4

Roil No. .o Total Pages : 4

MDQ/M-16 10707

INTERNATIONAL MARKETING
Paper : MCIT-404

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all with first compulsory question
of ten parts (Four marks each), the answer to which should
not exceed half page. The remaining questions are of

10 marks each.

AT : F;A U Y P W g W v 1 afEd g
e 28 9 (FOF 4 3iF) ¥ I TEE 9 # IW
Y TS TH H T AET) I U 10 FF F TS B

(b)
(c)

(d)
(e)
(f)
(g)

Compulsory Question
(fEmE woT)

What is Ethnocentricity ?

What is Geocentricity ?

What are the challenges involved in international
marketing ?

How demography influence international marketing ?
What is product adaptation ?

What is transfer pricing ?

What are the benefits of using a local advertising
agency for promotion ?

10707/50/KD/606/Trans. [PTO.



2.

(h) How legal environment influence International
marketing operations ?

(i) Which market entry strategy involves least cost ?

() When personal selling is used in international
marketing ?

(F) T Iped 87

(@) y@viFa = &2

(m) st famom § wnfver SRt @ 2

(%) seTEherE YA e wE § s froR
gfad & 27

(T) SR IFEH F 27

() TEARO G T B?

(3) vER # fau T e e ueE 3T w
® Y E?

() FIA e fhe 7@ ¥ sfaisdta famom e
weTterd T )

() FA-H T9R FAY AT | w8 w9 A # fad
A 77

(3) et famom § =fse fagwa = ITEr s fE
o # 2

What are the different phases of International Marketing ?
Illustrate.

sHade fagmm # fafam o F-Fn #7 ool e

10707/50/KD/606 2

Marketing opportunities and problems in a country varies
according to its level of economic developments. Discuss

this statement.

“uw 29 H AR SR den wREE 39w oY fae
F ¥R B R ofafa e #' 6 FTE | T= Sy

What are the kinds of entry strategies available to an

international marketer 7
T i foom & fem fEm wwl # owew Euchce
IqAR] B?

. Discuss the process of new product development in

international marketing. What are the challenges you expect
a Mobile manufacturer face while developing a new product
for the global market ?

st faoom ° @ saR e & s wowe
Fifme ifves Tom & fau & SO w1 fawm F@
9 UF Hees Fola & R e R R # SeiR
=@

What factors contribute to the increased complexity and
cost of global logistics as compared to domestic logistics ?

el WA T F ge § Aeww 7 9 § BE-9 FE
& g Afecta @en o W AR W 87
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